		NOTICE FO			AR AND RURAL			D						
		IN THE STATE OF OTT	JI GOJAKAI BI	Dree - Brian	Category	CORPORA	I CIVITE				rranged by applicant in Lakhs)			
S.No	Name Of Location	Revenue District	Type of RO (Regular/Rural)	Estimated monthly Sales Potential (MS+HSD) in KLs	(SC SC CC-1 SC PH ST ST CC-1 ST PH OBC OBC CC-1 OBC PH OPEN CC-1 OPEN CC-2 OPEN PH)	Type of Site (CC/DC/CFS)	Minimum Frontage of Site (in Metre)		Minimum Area of site (in Sq. Metre).	Estimated working capital requirement for operation of RO (Rs. in Lakhs)	Estimated fund required for development of infrastructure at RO (Rs. in Lakhs)	Mode of selection (Draw of Lots/Bidding)	Fixed Fee / Min bid amount (Rs. in Lakhs)	Security Deposit (Rs. in Lakhs)
1	2	3	4	5	6	7	8A	8B	8C	9A	9B	10	11	12
1	VILLAGE MEDA ADRAJ ON KADI-SANAND HIGHWAY SH, ON LHS WHILE TRAVELLING FROM SANAND TO KADI	MEHSANA	REGULAR	180	OPEN	CC	30	30	900	32	12	BIDDING	30	5
2	VILLAGE SADRA ON STATE HIGHWAY (KADI-DETROJ ROAD)	MEHSANA	REGULAR	150	OBC	DC	30	30	900	32	75	DRAW OF LOTS	15	4
3	FROM VILLAGE JOGAN TO PETLAD ON SH WITHIN 1KM FROM GSRTC MEHSANA DIVISION OFFICE MAIN GATE WITHIN	ANAND MEHSANA	REGULAR REGULAR	120 250	SC OPEN	CFS DC	30 25	30 25	900 625	32	0 55	DRAW OF LOTS DRAW OF LOTS	0 15	3 5
5	MEHSANA MUNICIPAL LIMITS NOT ON SH/NH WITHIN 2 KM FROM FATEPURA BYPASS CIRCLE ON SH 41 ON LHS WHILE GOING	MEHSANA	REGULAR	245	OPEN	DC	30	30	900	32	75	DRAW OF LOTS	15	5
	TOWARDS PALANPUR													
7	VILLAGE MITHA ON SH 19 (MEHSANA-BECHRAJI ROAD)	MEHSANA DAHOD	REGULAR REGULAR	170 160	OBC ST	DC CFS	30 35	30 45	900 1575	32 0	75 0	DRAW OF LOTS DRAW OF LOTS	15 0	4 3
8	BHUTODI TO GAMLA ON LHS OF NH47 NADIAD BYPASS ROAD GANPATI MANDIR CROSSING TO KAMLA CHOKDI ON SH	KHEDA	REGULAR	150	OPEN	CC	30	30	900	32	12	BIDDING	30	5
9	FROM ITI UTARSANDA TOWARDS CROMA SHOWROOM ON ANAND - NADIAD ROAD NH	KHEDA	REGULAR	150	OPEN	DC	30	30	900	32	95	DRAW OF LOTS	15	5
10	FROM KADI TO BUDASAN ON LHS ON KADI -CHHATRAL ROAD ON SH	MEHSANA	REGULAR	150	OBC	DC	30	30	900	32	75	DRAW OF LOTS	15	4
11	WITHIN 2 KM FROM BILL CHOKDI ON BILL CHAPAD ROAD (WITHIN VMC LIMIT)	VADODARA	REGULAR	200	OPEN	DC	25	25	625	32	75	DRAW OF LOTS	15	5
12	WITHIN 3KM FROM VISHWAKARMA BAT SHOP TO BHALEJ ON SH ON CHAKLASI BHALEJ ROAD ON LH	KHEDA	REGULAR	110	SC	CFS	30	30	900	0	0	DRAW OF LOTS	0	3
13	WITHIN 3 KM FROM MOTIPURA CIRCLE HIMMATNAGAR ON NH 48	SABARKANTHA	REGULAR	200	OBC	DC	35	45	1575	32	95	DRAW OF LOTS	15	4
14	WITHIN 10 KM FROM GWSSB OFFICE MODHERA TOWARDS MEHSANA ON LHS ON SH	MEHSANA	REGULAR	100	OPEN CC 1	DC	30	30	900	32	75	DRAW OF LOTS	15	5
15	FROM RAJENDRANAGAR CROSS ROAD TO SHAMLAJI CROSS ROAD ON LHS ON NH48	ARVALLI	REGULAR	250	OPEN	DC	35	45	1575	32	95	DRAW OF LOTS	15	5
16	VILLAGE POSHINA ON HADAD - MAMANA PIPLA ROAD ON SH, DISTRICT SABARKANTHA	SABARKANTHA	REGULAR	100	ST	CFS	30	30	900	0	0	DRAW OF LOTS	0	3
17	WITHIN RADIUS OF 1.5 KM FROM BALAPIR CIRCLE KADI ON SH	MEHSANA	REGULAR	150	OBC	DC	30	30	900	32	75	DRAW OF LOTS	15	4
18	BETWEEN UMIYA CIRCLE TO GATE NO 8 OF APMC UNJHA ON SH	MEHSANA	REGULAR	180	OPEN	DC	30	30	900	32	75	DRAW OF LOTS	15	5
19	FROM NAGALPUR CROSS ROAD JUNCTION TO BECHRAJI CIRCLE ON MEHSANA- BECHRAJI ROAD	MEHSANA	REGULAR	120	OPEN	DC	30	30	900	32	75	DRAW OF LOTS	15	5
20	GHODAJAR TO AGASWANI ON SH; TAL:DHANPUR	DAHOD	REGULAR	100	ST	CFS	30	30	900	0	0	DRAW OF LOTS	15	3 4
21	VILLAGE BAJKOT IN MODASA TALUKA NOT ON SH/NH WITHIN 2.5 KM FROM KANSA CIRCLE TOWARDS VALAM ON SH	ARVALLI MEHSANA	REGULAR REGULAR	100 130	OBC OPEN	DC DC	30 30	30 30	900 900	32 32	55 75	DRAW OF LOTS DRAW OF LOTS	15 15	5
23	IN VILLAGE SHINOL FROM SHIKA TO SHINOL ON SH	ARVALLI	REGULAR	120	OPEN CC 2	DC	30	30	900	32	75	DRAW OF LOTS	15	5
24	FROM TAKATUKA TO JINJUDI ON EITHER SIDE ON SH	ARVALLI	REGULAR	130	OBC CC 1	DC	30	30	900	32	75	DRAW OF LOTS	15	4
25	FROM HANSOT TO SAHOL ON BOTH SIDE OF ANKLESHWAR TO SURAT NH 64	BHARUCH	REGULAR	200	SC CC 1	CFS	35	45	1575	0	0	DRAW OF LOTS	0	3
26	WITHIN 4 KM FROM MEHSANA BYPASS CIRCLE TOWARDS SHANKUS WATER PARK ON SH-41 ON LHS TOWARDS AHMEDABAD	MEHSANA	REGULAR	300	OPEN	DC	30	30	900	32	75	DRAW OF LOTS	15	5
27	WITHIN 5 KM FROM BECHRAJI MAMLATDAR OFFICE ON SH ON LHS TOWARDS MODHERA	MEHSANA	REGULAR	140	OPEN	DC	30	30	900	32	75	DRAW OF LOTS	15	5
28	KHAROD TO MIRAKHEDI ON NH56	DAHOD	REGULAR	160	OBC	DC	35	45	1575	32	95	DRAW OF LOTS	15	4
29	FROM VILLAGE JHAKHLA TO LINGDA ON SH	ANAND	REGULAR	100	ST	CFS	30	30	900	0	0	DRAW OF LOTS	0	3
30	VILLAGE TAJPUR (ORAN) ON NH-48 ON LHS WHILE TRAVELLING TOWARDS GANDHINAGAR	SABARKANTHA	REGULAR	250	OPEN	DC	35	45	1575	32	95	DRAW OF LOTS	15	5
31	WITHIN 5 KM FROM FASTRACK DEALCOMM PVT. LTD. ON SH -41 ON LHS WHILE GOING TOWARDS MEHSANA	MEHSANA	REGULAR	190	OPEN	DC	30	30	900	32	75	DRAW OF LOTS	15	5

32	WITHIN 2 KM FROM VADODARA INTERCHANGE-3 OF SH06 AND NE4 (DELHI-	VADODARA	REGULAR	300	OBC	DC	30	30	900	32	75	DRAW OF LOTS	15	4
33	MUMBAI EXPRESSWAY) ON SH WITHIN 5 KM FROM APMC CIRCLE UNJHA ON SH 41 ON LHS WHILE GOING	MEHSANA	REGULAR	170	OPEN	DC	30	30	900	32	75	DRAW OF LOTS	15	5
34	TOWARDS MEHSANA WITHIN 0.5 KM FROM AKSHAR PARADISE CHAR RASTA (WITHIN VMC LIMIT)	VADODARA	REGULAR	200	SC	CFS	25	25	625	0	0	DRAW OF LOTS	0	3
	WITHIN MUNICIPAL LIMITS OF VIJAPUR TOWN ON VIJAPUR-VALASNA ROAD NOT													
35	ON SH/NH	MEHSANA	REGULAR	130	OPEN	DC	25	25	625	32	55	DRAW OF LOTS	15	5
36	WITHIN VILLAGE TULSIGAM ON SH, DISTRICT VADODARA	VADODARA	REGULAR	100	OBC	DC	30	30	900	32	75	DRAW OF LOTS	15	4
37	WITHIN 2 KM FROM GOLDEN CHOWKADI TOWARD AJWA ROAD (RHS) ON NH48 (WITHIN VMC LIMIT)	VADODARA	REGULAR	200	OPEN CC 1	DC	25	25	625	32	75	DRAW OF LOTS	15	5
38	VILLAGE BHADRAN TALUKA BORSAD ON SH	ANAND	REGULAR	100	ST	CFS	30	30	900	0	0	DRAW OF LOTS	0	3
39	IN BETWEEN VILLAGE MADODHAR TO GUTAL ON SH	VADODARA	REGULAR	110	OBC	DC	30	30	900	32	75	DRAW OF LOTS	15	4
40	WITHIN 3 KM FROM MADINATUL ILM SCHOOL & COLLEGE TOWARDS ILOL ON RHS ON SH	SABARKANTHA	REGULAR	115	OPEN	DC	30	30	900	32	75	DRAW OF LOTS	15	5
41	WITHIN 3 KM FROM GAMBHOI JUNCTION TOWARDS RANASAN ON SH (GAMBHOI-RANASAN ROAD)	SABARKANTHA	REGULAR	110	OPEN	DC	30	30	900	32	75	DRAW OF LOTS	15	5
42	IN VILLAGE BORIYAVI FROM BORIYAVI TO ANAND ON NH48 ON LHS	ANAND	REGULAR	160	OBC	CC	35	45	1575	32	12	BIDDING	30	4
43	ON NH47, BETWEEN VILLAGE GOVINDI AND VILLAGE PANDVA	PANCH MAHALS	REGULAR	175	ST	CFS	35	45	1575	0	0	DRAW OF LOTS	0	3
44	FROM RATANPUR BORDER TO SHAMLAJI-MODASA ROAD JUNCTION ON LEFT HAND SIDE OF NH-48	ARVALLI	REGULAR	250	OPEN	DC	35	45	1575	32	95	DRAW OF LOTS	15	5
45	VAROD TO SAMPOI ON RHS OF NH56	DAHOD	REGULAR	180	OPEN	DC	35	45	1575	32	95	DRAW OF LOTS	15	5
46	FROM PIPLEJ TO PANVAD ON SH 62 ON CHHOTA UDEPUR TO KANWAT ROAD	CHHOTAUDEPUR	REGULAR	100	OBC	DC	30	30	900	32	75	DRAW OF LOTS	15	4
47	VILLAGE BAKROL, TAL. GHOGHAMBA, NOT ON NH AND SH	PANCH MAHALS	REGULAR	100	ST	CFS	30	30	900	0	0	DRAW OF LOTS	0	3
48	VILLAGE RAMPUR ON KHED TASIA ROAD ON SH	SABARKANTHA	REGULAR	105	OPEN	DC	30	30	900	32	75	DRAW OF LOTS	15	5
49	FROM RESHMA CHOKDI TO SIMADA NAHER JUNCTION BRTS ON LHS ON VESU CANAL ROAD	SURAT	REGULAR	300	OPEN	CC	30	30	900	32	12	BIDDING	30	5
50	IN AND AROUND 1 KM FROM SAHAJANAND SANKUL IN VILLAGE MANDAVA ON SH TALUKA DABHOI	VADODARA	REGULAR	100	OBC PH	DC	30	30	900	32	75	DRAW OF LOTS	15	4
51	FROM GOVADA TO NARGOL ON COASTAL HIGHWAY (VIA DEHARI) ON EITHER SIDE	VALSAD	REGULAR	150	SC PH	CFS	30	30	900	0	0	DRAW OF LOTS	0	3
	WITHIN 3 KM OF DAHOD BUS DEPOT NOT ON SH/NH	DAHOD	REGULAR	145	OPEN	DC	30	30	900	32	55	DRAW OF LOTS	15	5
53	PADEDI TO GOLANA PALLA NEAR MALEKPUR CHOWKDI ON SH	MAHISAGAR	REGULAR	115	OPEN	DC	30	30	900	32	75	DRAW OF LOTS	15	5
54	SHAMLAJI CROSS ROAD TO BHILODA ON NH	ARVALLI	REGULAR	170	OBC	DC	30	30	900	32	95	DRAW OF LOTS	15	4
55	IN VILLAGE GAMDI FROM CHIKODARA CHOKDI TO SAMARKHA CROSSING ON NH 48 LHS TOWARDS AHMEDABAD	ANAND	REGULAR	190	OPEN	CC	35	45	1575	32	12	BIDDING	30	5
56	FROM BORSAD CHOKDI TO ANDHARIYA ON NH TOWARDS BORSAD ON EITHER SIDE	ANAND	REGULAR	170	ST	CFS	30	30	900	0	0	DRAW OF LOTS	0	3
57	FROM MANEJ TO NAR ON NH 751 D ON LHS IN VILLAGE NAR	ANAND	REGULAR	160	OPEN	DC	35	45	1575	32	95	DRAW OF LOTS	15	5
58	FROM VITTALBHAI PATEL STATUE TO AXIS BANK ON SH ON SOJITRA ROAD	ANAND	REGULAR	100	OBC	DC	25	25	625	32	75	DRAW OF LOTS	15	4
59	BETWEEN PRAMUKH-SWAMI CIRCLE AND OSIA HYPERMART ON RAJPATHMARG IN ANAND NOT ON SH/NH	ANAND	REGULAR	180	OPEN	DC	30	30	900	32	55	DRAW OF LOTS	15	5
60	IN VILLAGE VANSAR ON NH 48 FROM AHMEDABAD TO ANAND ON RHS	KHEDA	REGULAR	190	SC	CFS	35	45	1575	0	0	DRAW OF LOTS	0	3
61	IN VILLAGE MAHISA ON SH ON LADVEL ROAD	KHEDA	REGULAR	200	OBC	DC	30	30	900	32	75	DRAW OF LOTS	15	4
62	WITHIN TOWN LIMITS OF SANTRAMPUR NOT ON SH/NH	MAHISAGAR	REGULAR	170	OPEN	DC	25	25	625	32	55	DRAW OF LOTS	15	5
63	BETWEEN NUGAR CIRCLE TO MEHSANA BYPASS CIRCLE ON MEHSANA BYPASS ROAD (NH) LHS TOWARDS AHMEDABAD	MEHSANA	REGULAR	210	OPEN CC 1	DC	35	45	1575	32	95	DRAW OF LOTS	15	5
64	UBHRAN IN MALPUR TALUKA ON SH	ARVALLI	REGULAR	150	OBC	DC	30	30	900	32	75	DRAW OF LOTS	15	4
65	FROM VILLAGE BADOLI TO VILLAGE REVAS ON IDAR- BHILODA ROAD ON NH	SABARKANTHA	REGULAR	150	ST	CFS	35	45	1575	0	0	DRAW OF LOTS	0	3
66	AT KAKANPUR OUTSIDE MUNICIPAL LIMIT ON SH	PANCH MAHALS	REGULAR	125	OPEN	DC	30	30	900	32	75	DRAW OF LOTS	15	5
67	WITHIN 4 KMS FROM CHIKHODRA CIRCLE ON HALOL GODHRA ROAD NOT ON SH/NH	PANCH MAHALS	REGULAR	190	OPEN	DC	30	30	900	32	55	DRAW OF LOTS	15	5
		DAHOD	REGULAR	160	OBC	CC	35	45	1575	32	12	BIDDING	30	4
68	AT LIMKHEDA ON NH47 FROM VATEDA TO PALLI			200	ST	CFS	35	45	1575	0	0	DRAW OF LOTS	0	3
	AT LIMKHEDA ON NH47 FROM VATEDA TO PALLI VILLAGE MOTI KHARAJ ON NH 56 ON RHS FROM DAHOD TO GARBADA	DAHOD	REGULAR	200										
68	VILLAGE MOTI KHARAJ ON NH 56 ON RHS FROM DAHOD TO GARBADA WITHIN 2 KM OF DARBAR CHOKDI IN MANJALPUR WITHIN VMC LIMITS	DAHOD VADODARA	REGULAR REGULAR	350	OPEN	CC	25	25	625	32	12	BIDDING	30	5
68 69	VILLAGE MOTI KHARAJ ON NH 56 ON RHS FROM DAHOD TO GARBADA				OPEN OPEN	CC DC	25 30	25 30	625 900	32	12 75	BIDDING DRAW OF LOTS	30 15	5
68 69 70	VILLAGE MOTI KHARAJ ON NH 56 ON RHS FROM DAHOD TO GARBADA WITHIN 2 KM OF DARBAR CHOKDI IN MANJALPUR WITHIN VMC LIMITS STONE NO. 355 TO STONE 357 FROM DELOL TO KALOL ON SH-5 NEAR KHADKI TOLL	VADODARA PANCH MAHALS	REGULAR	350										

74	FROM VILLAGE KHARANIYA TO VILLAGE GANDHISAN ON SH (KHEROJ-KOTRA ROAD)	SABARKANTHA	REGULAR	120	ST CC 1	CFS	30	30	900	0	0	DRAW OF LOTS	0	3
75	FROM HOTEL DECENT TO HOTEL KHALSA PUNJAB ON NH48 ON LHS TOWARDS ANAND IN VILLAGE DANTALI	KHEDA	REGULAR	180	OPEN PH	CC	35	45	1575	32	12	BIDDING	30	5
76	BABALIYA TO PANDARWADA;MAHISAGAR ON SH	MAHISAGAR	REGULAR	100	OBC	CC	30	30	900	32	12	BIDDING	30	4
77	LM WIND POWER BLADE TO AKSHAR PARTY PLOT ON LHS OF SH5	PANCH MAHALS	REGULAR	180	OPEN	DC	30	30	900	32	75	DRAW OF LOTS	15	5
78	WITHIN 3 KMS FROM BOB DUNIYA GRAMIN BRANCH, RINKI CHOWKDI,HALOL NOT	PANCH MAHALS	REGULAR	135	SC	CFS	30	30	900	0	0	DRAW OF LOTS	0	3
79	ON SH IN AND AROUND 0.5 KM FROM SAINIK CHHATRALAY CIRCLE ON NIZAMPURA ROAD	VADODARA	REGULAR	300	OPEN	DC	20	20	525	32	75	DRAW OF LOTS	15	5
	WITHIN VMC LIMIT													
80	WITHIN VILLAGE DETHAN ON RHS FROM KARJAN TO PALEJ ON NH48	VADODARA	REGULAR	320	OBC	DC	35	45	1575	32	95	DRAW OF LOTS	15	4
81	KARAMSAD-VALLABH VIDYANAGAR ROAD, ANAND NOT ON SH /NH	ANAND	REGULAR	155	OPEN	CC	30	30	900	32	12	BIDDING	30	5
82	FROM KHATRI CHOKDI TO AMUL CHEESE PLANT ON SH TOWARDS VARSOLA	KHEDA	REGULAR	160	OPEN	DC	30	30	900	32	75	DRAW OF LOTS	15	5
83	WITHIN 3 KM FROM VIJAYNAGAR MAMLATDAR OFFICE TOWARDS BHILODA ON VIJAYNAGAR-BHILODA ROAD ON SH	SABARKANTHA	REGULAR	120	ST	CFS	30	30	900	0	0	DRAW OF LOTS	0	3
84	WITHIN 2 KM FROM BECHRAJI MAMLATDAR OFFICE ON SH TOWARDS HANSALPUR	MEHSANA	REGULAR	175	OBC	DC	30	30	900	32	75	DRAW OF LOTS	15	4
85	FROM TOWNHALL ANAND CIRCLE TO VIDHYANAGAR ON ANAND VIDHYANAR ROAD NOT ON SH/NH	ANAND	REGULAR	170	OPEN	DC	30	30	900	32	55	DRAW OF LOTS	15	5
86	FROM VILLAGE MATHASUR TO VILLAGE CHORIVAD ON NH 58 (VIJAYNAGAR-VADALI ROAD)	SABARKANTHA	REGULAR	150	OPEN CC 1	DC	35	45	1575	32	95	DRAW OF LOTS	15	5
87	BETWEEN STONE NO 175 AND STONE NO. 176 ON LHS OF NH-47, VILLAGE USRA, LIMKHEDA, DAHOD	DAHOD	REGULAR	185	ST	CFS	35	45	1575	0	0	DRAW OF LOTS	0	3
88	WAGHODIYA CHOKDI TO KAPURAI CHOWKADI (LHS) ON NH48 (WITHIN VMC LIMIT)	VADODARA	REGULAR	430	ОВС	DC	25	25	625	32	75	DRAW OF LOTS	15	4
89	FROM GRID CHOKDI TO INDIRA GANDHI STATUE ON EITHER SIDE ON NH DANDI MARG	ANAND	REGULAR	150	OPEN	DC	35	45	1575	32	95	DRAW OF LOTS	15	5
90	IN VILLAGE LASUNDARA ON NH 47 INDORE TO AHMEDABAD LHS	KHEDA	REGULAR	190	OPEN	DC	35	45	1575	32	95	DRAW OF LOTS	15	5
91	WITHIN VILLAGE KHERVADI IN WAGHODIA TALUKA ON STATE HIGHWAY	VADODARA	REGULAR	160	OBC	DC	30	30	900	32	75	DRAW OF LOTS	15	4
92	FROM HALOL BYEPASS CIRCLEÂ TO VILLAGE KANJARI ON LHS OF SH	PANCH MAHALS	REGULAR	135	ST	CFS	30	30	900	0	0	DRAW OF LOTS	0	3
93	ELECON GARDEN TO SANKET INDIA ON BAKROL ROAD ON SH	ANAND	REGULAR	180	OPEN	DC	30	30	900	32	75	DRAW OF LOTS	15	5
94	WITHIN 6KM FROM HOTEL DARSHAN TOWARDS BORSAD CHOWKADI ON SH	ANAND	REGULAR	210	OPEN	DC	30	30	900	32	75	DRAW OF LOTS	15	5
95	WITHIN VILLAGE KOTAMBI ON HARNI HALOL ROAD ON STATE HIGHWAY	VADODARA	REGULAR	130	OBC	DC	30	30	900	32	75	DRAW OF LOTS	15	4
96	FROM ANAND CHOWKDI TO VASAD CHOWKDI ON NH 64 IN BORSAD TOWN ON EITHER SIDE	ANAND	REGULAR	150	SC	CFS	30	30	900	0	0	DRAW OF LOTS	0	3
97	WITHIN GOTRI ON GOTRI-SEWASI ROAD IN VMC LIMIT	VADODARA	REGULAR	150	OPEN	DC	25	25	625	32	75	DRAW OF LOTS	15	5
98	IN BETWEEN MILESTONE NO. 11 TO 13 ON SH ON SAMA-SAVALI ROAD (OUTSIDE	VADODARA	REGULAR	280	OPEN	DC	30	30	900	32	75	DRAW OF LOTS	15	5
	VMC LIMIT)													
99	WITHIN KALALI ON KALALI- TALSAT ROAD IN VMC LIMIT	VADODARA	REGULAR	200	OBC	DC	25	25	625	32	75	DRAW OF LOTS	15	4
100	WITHIN 1 KM FROM SIMALIYA BUS STAND ON SH	VADODARA	REGULAR	125	ST	CFS	30	30	900	0	0	DRAW OF LOTS	0	3
101	IN AND AROUND 1 KM FROM MANDAVI GATE IN VMC LIMIT	VADODARA	REGULAR	200	OPEN	DC	20	20	525	32	75	DRAW OF LOTS	15	5
102	FROM BHARAT RASAYAN LIMITED TO GACL DAHEJ ON SH	BHARUCH	REGULAR	100	OBC	DC	30	30	900	32	75	DRAW OF LOTS	15	4
103	IN BETWEEN GADA CIRCLE TO ABACUS CIRCLE IN VMC LIMIT	VADODARA	REGULAR	210	OPEN	DC	25	25	625	32	75	DRAW OF LOTS	15	5
104	IN BETWEEN SHREE KASHI VISHWANATH MAHADEV TEMPLE AND KOTHI CHAR RASTA ON JAWAHARLAL NEHRU MARG	VADODARA	REGULAR	350	OPEN	CC	25	25	625	32	12	BIDDING	30	5
105	FROM RANKUVA TO MANEKPORE ON NH 360 ON LHS	NAVSARI	REGULAR	150	ST	CFS	30	30	900	0	0	DRAW OF LOTS	0	3
106	AT VILLAGE KARDEJ TOWARDS GHANGHALI ON SH-36	BHAVNAGAR	REGULAR	120	OBC	DC	30	30	900	32	75	DRAW OF LOTS	15	4
107	LHS ON NATVARLAL RAVAL MARG FROM HIRABHAI TOWER TOWARDS ISHWAR PARK SOCIETY AHMEDABAD	AHMEDABAD	REGULAR	280	OPEN	DC	25	25	625	32	75	DRAW OF LOTS	15	5
108	WITHIN 2 KM FROM BHILAD RAILWAY STATION, MINIMUM ON 18M ROAD	VALSAD	REGULAR	110	OPEN	DC	30	30	900	32	75	DRAW OF LOTS	15	5
109	FROM POICHA TO VIRPORE ON LHS OF POICHA TO VIRPORE	NARMADA	REGULAR	180	ST	CFS	30	30	900	0	0	DRAW OF LOTS	0	3
110	1.5 KM FROM GAYATRI MANDIR WITHIN MUNICIPAL LIMIT OF MAHUVA TOWN	BHAVNAGAR	REGULAR	180	OBC	CC	30	30	900	32	12	BIDDING	30	4
111	GAJERA CIRCLE TO GAJERA SCHOOL ON LHS	SURAT	REGULAR	600	OPEN	CC	20	20	525	32	12	BIDDING	30	5
112	ON SHO7, BETWEEN DEESA AND VILLAGE JUNA DEESA	BANAS KANTHA	REGULAR	200	OPEN CC 1	DC	30	30	900	32	75	DRAW OF LOTS	15	5
113	BAVLA TO CHANGODAR EITHER SIDE ON NH 47	AHMEDABAD	REGULAR	225	OBC	DC	35	45	1575	32	95	DRAW OF LOTS	15	4
114	FROM ARNEJ TO MEMAR ON LHS ON SH8	AHMEDABAD	REGULAR	150	SC	CFS	30	30	900	0	0	DRAW OF LOTS	0	3
115	FROM DHOLAKUVA CIRCLE TO LAVARPUR ON GANDHINAGAR BY PASS ROAD	GANDHINAGAR	REGULAR	150	OPEN	CC	30	30	900	32	12	BIDDING	30	5
116	FROM PALSANA CHOWKDI TO KADODARA CHOWKDI ON NH48 LHS OF PALSANA TO KADODARA	SURAT	REGULAR	250	OPEN	DC	35	45	1575	32	95	DRAW OF LOTS	15	5
	INDODANA								L		L			

117	WITHIN NEW ALKAPURI IN VMC LIMIT	VADODARA	REGULAR	200	OBC	DC	25	25	625	32	75	DRAW OF LOTS	15	4
	WITHIN 12 WARRAN ON IN VINCE LIMIT WITHIN 14 KMS FROM T JUNCTION OF STATE HIGHWAY IN JESAR TOWARDS													
118	RAJPARA ON SH 96	BHAVNAGAR	REGULAR	150	ST	CFS	30	30	900	0	0	DRAW OF LOTS	0	3
119	FROM SAHARA DARWAZA TO OUTER RING ROAD JUNCTION ON LHS WITHIN MUNICIPAL LIMITS	SURAT	REGULAR	400	OPEN	CC	20	20	525	32	12	BIDDING	30	5
120	WITHIN 2 KM FROM RAYMOND TOWER, WITHIN NAVSARI MUNICIPAL LIMITS	NAVSARI	REGULAR	180	OPEN	DC	20	20	525	32	55	DRAW OF LOTS	15	5
121	FROM VESU CANAL ROAD TO BAMROLI KHADI BRIDGE EITHER SIDE	SURAT	REGULAR	220	OBC	DC	25	25	625	32	75	DRAW OF LOTS	15	4
122	CHAUTA BAZAR POLICE CHOKI, ANKLESHWAR TO PURSHOTTAM GARDEN ON ANKLESHWAR HANSOT ROAD	BHARUCH	REGULAR	150	OPEN	DC	20	20	525	32	55	DRAW OF LOTS	15	5
123	FROM ITI DEDIAYAPADA TO AMIYAR ON NH753B BOTH SIDE OF DEDIYAPADA TO SAGBARA	NARMADA	REGULAR	150	ST CC 1	CFS	35	45	1575	0	0	DRAW OF LOTS	0	3
124	ON SH10, BETWEEN VILLAGE BORATVADA AND HARIJ	PATAN	REGULAR	100	OPEN CC 2	DC	30	30	900	32	75	DRAW OF LOTS	15	5
125	ON KAMLAPUR-JASDAN HIGHWAY, WITHIN 2 KM OF KAMLAPUR BUS STATION.	RAJKOT	REGULAR	100	OBC CC 1	DC	30	30	900	32	75	DRAW OF LOTS	15	4
126	FROM ANUVRAT DWAR TO SHREE SHYAM BABA MANDIR ON NEW CITY LIGHT ROAD ON LHS	SURAT	REGULAR	530	OPEN	DC	25	25	625	32	75	DRAW OF LOTS	15	5
127	FROM KHORAJ TO SACHANA ON SANAND - VIRAMGAM HIGHWAY	AHMEDABAD	REGULAR	200	ST	CFS	30	30	900	0	0	DRAW OF LOTS	0	3
128	AKSHARWADI TO PRAMUKH SWAMI MAHRAJ CHOWK ON LHS	SURAT	REGULAR	300	OBC	CC	20	20	525	32	12	BIDDING	30	4
129	FROM NIMBHORE VILLAGE TO PISAVAR ON NH 753B, DIST: TAPI	TAPI	REGULAR	250	OPEN	DC	35	45	1575	32	95	DRAW OF LOTS	15	5
130	WITHIN 2KM FROM SWAMINARAYAN GURUKUL BHACHAU TOWARDS GANDHIDHAM ON RHS ON NH 41	KUTCH	REGULAR	562	OPEN	DC	35	45	1575	32	95	DRAW OF LOTS	15	5
131	ON SH-16(WITHIN 2 KMS FROM NH-47 & SH-16 JUNCTION) ON RHS WHILE MOVING TOWARDS DHOLAKA.	AHMEDABAD	REGULAR	165	OBC	DC	30	30	900	32	75	DRAW OF LOTS	15	4
132	KODINAR WITHIN MUNICIPAL LIMITS, NOT ON SH/NH	GIR SOMNATH	REGULAR	170	SC	CFS	25	25	625	0	0	DRAW OF LOTS	0	3
133	WITHIN 3KM FROM VAGHASIYA TOLL PLAZA TOWARDS MORBI RHS ON NH27	MORBI	REGULAR	217	OPEN	DC	35	45	1575	32	95	DRAW OF LOTS	15	5
134	ON JAMNAGAR RAJKOT HIGHWAY LHS FROM THEBA CHWOKDI TO JAMBUDA PATIYA	JAMNAGAR	REGULAR	110	OPEN	DC	30	30	900	32	75	DRAW OF LOTS	15	5
135	FROM BHESTAN CHAR RASTA TO MULBERRY CIRCLE ON LHS	SURAT	REGULAR	230	OBC	CC	25	25	625	32	12	BIDDING	30	4
136	FROM KOBADI TOLL BOOTH TO SANODAR ON LHS ON NH-51 , DISTRICT BHAVNAGAR	BHAVNAGAR	REGULAR	210	ST	CFS	35	45	1575	0	0	DRAW OF LOTS	0	3
137	CTM CROSSROADS TO RABARI COLONY BRTS STOP ON NAROL TO NARODA ROAD AHMEDABAD	AHMEDABAD	REGULAR	330	OPEN	CC	25	25	625	32	12	BIDDING	30	5
138	ON JAMNAGAR-RAJKOT HIGHWAY, WITHIN 6 KM FROM SAURASHTRA CRICKET STADIUM TOWARDS JAMNAGAR ON LHS	RAJKOT	REGULAR	100	OPEN CC 1	DC	30	30	900	32	75	DRAW OF LOTS	15	5
139	ON VAVDI ROAD, WITHIN MORBI MUNICIPAL LIMITS, NOT ON SH OR NH	MORBI	REGULAR	120	OBC	DC	30	30	900	32	55	DRAW OF LOTS	15	4
140	KUKARMUNDA TO FULWADI, TALUKA: KUKARMUNDA, TAPI	TAPI	REGULAR	150	ST	CFS	30	30	900	0	0	DRAW OF LOTS	0	3
141	WITHIN 2KM FROM NIRMA CIRCLE IN CHANASMA TOWARDS MEHSANA ON NH68	PATAN	REGULAR	152	OPEN	DC	35	45	1575	32	95	DRAW OF LOTS	15	5
142	AT VILLAGE KASBAPAR, ON NH 64 DANDI HERTITAGE ROAD	NAVSARI	REGULAR	155	OPEN	DC	35	45	1575	32	95	DRAW OF LOTS	15	5
143	VILLAGE - NAVAPURA ON DHOLKA - AHMEDABAD HIGHWAY ON EITHER SIDE	AHMEDABAD	REGULAR	150	OBC	CC	30	30	900	32	12	BIDDING	30	4
144	FROM SANAND CIRCLE ON SG HIGHWAY TO SHANTIPURA CIRCLE ON SANAND- SARKHEJ ROAD EITHER SIDE	AHMEDABAD	REGULAR	300	OPEN	CC	25	25	625	32	12	BIDDING	30	5
145	WITHIN 1 KM FROM JP POLICE STATION TOWARD SUNFARMA ROAD IN TANDALJA, DIST-VADODARA	VADODARA	REGULAR	190	ST	CFS	25	25	625	0	0	DRAW OF LOTS	0	3
146	WITHIN 3KM FROM MALOD CHOWKDI TOWARDS UPASNA CIRCLE ON RHS ON SURENDRANAGAR RAJKOT BYPASS	SURENDRANAGAR	REGULAR	100	OPEN	DC	30	30	900	32	75	DRAW OF LOTS	15	5
147	BETWEEN 175 TO 186 ON LHS OF NH 48 VADODARA TO SURAT	BHARUCH	REGULAR	250	OBC	DC	35	45	1575	32	95	DRAW OF LOTS	15	4
148	BETWEEN PALANPUR AND DHANIYANA CHOKDI, WITHIN 1 KM OF GOVERNMENT POLYTECHNIC COLLEGE,PALANPUR	BANAS KANTHA	REGULAR	150	OPEN	DC	25	25	625	32	55	DRAW OF LOTS	15	5
149	WITHIN 2 KM OF DANTIWADA POLICE STATION ON DANTIWADA-KUCHAVADA STATE HIGHWAY	BANAS KANTHA	REGULAR	120	SC PH	CFS	30	30	900	0	0	DRAW OF LOTS	0	3
150	HOTEL SAROVAR PORTICO SOMNATH TO AJOTHA ON DWARKA-BHAVNAGAR NH51.	GIR SOMNATH	REGULAR	200	OBC PH	DC	35	45	1575	32	95	DRAW OF LOTS	15	4
151	ON NH27, BETWEEN VILLAGE AWAL AND VILLAGE KIDOTAR ON LHS	BANAS KANTHA	REGULAR	700	OPEN	DC	35	45	1575	32	95	DRAW OF LOTS	15	5
152	BETWEEN NANAPONDHA TO KAPRADA (VIA JOGVEL) ON EITHER SIDE ON NH 848	VALSAD	REGULAR	180	OPEN	DC	35	45	1575	32	95	DRAW OF LOTS	15	5
153	BETWEEN NESWAD POST OFFICE AND BHADARA ON SH-35	BHAVNAGAR	REGULAR	120	OBC	DC	30	30	900	32	75	DRAW OF LOTS	15	4
154	VYARA TOWN BETWEEN DAXINAPATH VIDHYALAYA TO MISSION NAKA	TAPI	REGULAR	150	ST	CFS	30	30	900	0	0	DRAW OF LOTS	0	3
155	FROM VIJAYLAXMI HALL CIRCLE TO ALTHAN CIRCLE ON VIP ROAD ON LHS	SURAT	REGULAR	300	OPEN	DC	16.5	16.5	500	32	75	DRAW OF LOTS	15	5

Monthly March Ma			ı		1										
2000 1000	156	IN MAKARPURA ON MAKARPURA ROAD TOWARD JAMBUA BRIDGE WITHIN MUNICIPAL LIMITS	VADODARA	REGULAR	250	OPEN	CC	25	25	625	32	12	BIDDING	30	5
March Marc	157	WITHIN 2 KM FROM SADVICHAR TRUST GENERAL HOSPITAL ON TALAJA GOPNATH	BHAVNAGAR	REGULAR	120	OBC	CC	30	30	900	32	12	BIDDING	30	4
Description Process	158		SURAT	REGULAR	225	ST	CFS	25	25	625	0	0	DRAW OF LOTS	0	3
Manuscript Manuscrip	159		AHMEDABAD	REGULAR	410	OPEN	CC	25	25	625	32	12	BIDDING	30	5
Miles Mile	160		JAMNAGAR	REGULAR	100	OPEN	DC	30	30	900	32	75	DRAW OF LOTS	15	5
MAY	161		AHMEDABAD	REGULAR	275	OPEN	CC	25	25	625	32	12	BIDDING	30	5
15 Wilson Start From Work (See Part Part On Warder Rose) MARMACH MAR	162													15	4
MERCHAND MARKET MARKE	-														3
19	164	WITHIN 4 KM OF BHACHAU RAILWAY STATION ON BHUJ-BHACHAU HIGHWAY	KUTCH	REGULAR	205	OPEN CC 1	DC	30	30	900	32	75	DRAW OF LOTS	15	5
19 19 19 19 19 19 19 19	165	MANGROL MUNICIPAL LIMIT NOT ON NH/SH.	JUNAGADH	REGULAR	100	OBC	DC	30	30	900	32	55	DRAW OF LOTS	15	4
MINISTANDES NAME AND ASSANCE TO MARKS AND FATA SOME AND ASSANCE	166		MORBI	REGULAR	275	OPEN	DC	35	45	1575	32	95	DRAW OF LOTS	15	5
Beauty B	167	CH-0 CIRCLE TO BHAT ON EITHER SIDE	GANDHINAGAR	REGULAR	200	ST	CFS	30	30	900	0	0	DRAW OF LOTS	0	3
Beauty B	168													30	
The Instruments Readors TheInstruments Readors The Instruments Readors The Instruments R		ON LHS WITHIN 1 KMS FROM GEB VITHAL PLAZA TO BHAKTI CIRCLE ON HINDVA												30	4
WITHIN 4 KM FRICHI NAMAGAR TOWARDS MENDARDA ON IUNAGADH-IVANAGAR- IUNAGADH REGULAR 150 STCC1 CFS 30 30 900 0 0 DRAW OF LOTS 0 3	170		JAMNAGAR	REGULAR	100	OPEN	DC	30	30	900	32	75	DRAW OF LOTS	15	5
11 MININAROR ROAD. 10 10 10 10 10 10 10 1	171	ON KALAVAD ROAD, WITHIN 1 KM OF METODA GIDC GATE 2 TOWARDS RAJKOT.	RAJKOT	REGULAR	150	OPEN	DC	25	25	625	32	75	DRAW OF LOTS	15	5
17. FORM SHEELI CARTING CHOWK TO JAHANGIPURA MAIN ROAD JUNCTION ON JURAT REGULAR 275 OPEN CC 25 25 625 32 12 BIDDING 30 5	172		JUNAGADH	REGULAR	100	ST CC 1	CFS	30	30	900	0	0	DRAW OF LOTS	0	3
1.74 Diversified Cardinic Crown (20 August 20 August	173	WITHIN DEODAR TOWN MUNICIPAL LIMITS	BANAS KANTHA	REGULAR	150	OBC CC 1	DC	25	25	625	32	55	DRAW OF LOTS	15	4
175 SONDAL_WITHIN MANICIPAL LIMITS, NOT ON SHOR PH. RAKOT REGULAR 100 OPEN PH. CC 25 25 625 32 12 BIDDING 30 5	174	FROM SHREEJI CARTING CHOWK TO JAHANGIRPURA MAIN ROAD JUNCTION ON	SURAT	REGULAR	275	OPEN	CC	25	25	625	32	12	BIDDING	30	5
175 WITHIN 3 KM FROM TIRANGA CIRCLE IDAR TOWARDS HIMMATNAGAR ON SH SABARKANTHA REGULAR 130 ST CFS 30 30 900 0 0 0 DRAW OF LOTS 0 3	175		RAJKOT	REGULAR	100	OPEN PH	CC	25	25	625	32	12	BIDDING	30	5
178 N BETWEEN DHUMAD CHOWKADI TO ABACUS CIRCLE ON SAMA-SAVLI ROAD (LHS) VADODARA REGULAR 180 OPEN DC 25 25 625 32 75 DRAW OF LOTS 15 5	176		SABARKANTHA	REGULAR	130	ST	CFS	30	30	900	0	0	DRAW OF LOTS	0	3
178 N BETWEEN DHUMAD CHOWKADI TO ABACUS CIRCLE ON SAMA-SAYUR ROAD (HS) VADODARA REGULAR 180 OPEN DC 25 25 625 32 75 DRAW OF LOTS 15 5 1979 VSU MAIN SCHOOL, TO VIP ROAD ON LIFS SURAT REGULAR 160 OSC CFS 25 25 625 0 0 0 DRAW OF LOTS 15 4 100 NB STEWNER NAWAWARDHAN TO MANDRALA ON SH VADODARA REGULAR 160 SC CFS 25 25 625 0 0 0 DRAW OF LOTS 0 3 181 FMCM CHOCKET CIRCLE TO BHATAR CHAR RASTA ON UDHANA MAGDHALA ROAD SURAT REGULAR 300 OPEN DC 20 525 32 75 DRAW OF LOTS 15 5 182 GODADAR AMARRANA PRATAP CHOWK TO DINDOLL HS SURAT REGULAR 300 OPEN DC 20 525 32 75 DRAW OF LOTS 15 5 183 BORDER ON NH 848A SHORN HAVE AND A SHORN	177	AT VILLAGE BILPUDI, DHARAMPUR TO BARUMAL ON SH181 RHS	VALSAD	REGULAR	175	OBC	DC	30	30	900	32	75	DRAW OF LOTS	15	4
130 INBETWEEN MAYAVARDHANT TO MANDALA ON SH VADODARA REGULAR 160 SC CFS 25 25 625 0 0 0 DRAW OF LOTS 0 3 3 1 1 1 1 1 1 1 1	178	IN BETWEEN DHUMAD CHOWKADI TO ABACUS CIRCLE ON SAMA-SAVLI ROAD (LHS)	VADODARA	REGULAR	180	OPEN	DC	25	25	625	32	75		15	5
180 INB ETWEEN NAYLVARADHAN TO MANDALA ON SH	179	VESU MAIN ROAD FROM SD JAIN SCHOOL TO VIP ROAD ON LHS	SURAT	REGULAR	400	OBC	DC	25	25	625	32	75	DRAW OF LOTS	15	4
EITHER SIDE EITHER SIDE SINCH REGULAR 300 OPEN DC 20 20 25 32 12 BIDDING 30 5 5 5 5 5 5 5 5 5	180		VADODARA		160	SC	CFS	25	25	625				0	3
183 BROM VAPI CHAR RASTA TO DADRA CHECKPOST ON EITHER SIDE WITHIN VAPI VALSAD REGULAR 155 OPEN DC 30 30 900 32 95 DRAW OF LOTS 15 5 5 5 5 5 5 5 5	181		SURAT	REGULAR	300	OPEN	DC	20	20	525	32	75	DRAW OF LOTS	15	5
183 ORDER ON NH 848A	182	GODADRA MAHARANA PRATAP CHOWK TO DINDOLI LHS	SURAT	REGULAR	340	OPEN	CC	20	20	525	32	12	BIDDING	30	5
155 FROM MOTA KHUTVADA TO SHANTINAGAR ON SH 21 BHAVNAGAR REGULAR 120 ST CFS 30 30 900 0 0 DRAW OF LOTS 0 3 3 3 3 3 3 9 9 0 0 0 DRAW OF LOTS 0 3 3 3 3 3 3 3 3 3	183		VALSAD	REGULAR	155	OPEN	DC	30	30	900	32	95	DRAW OF LOTS	15	5
186 ON RHS WITHIN 6 KMS FROM DWARKESH PARTY PLOT TOWARDS ADALAJ ON SH41 GANDHINAGAR REGULAR 200 OPEN DC 30 30 900 32 75 DRAW OF LOTS 15 5 187 VILLAGE BALETIYA TALUKA KALOL ON SH WITHIN 3 KMS OF INTERSECTIONS OF DELHI MUMBAJ EXPRESSWAY & SH 188 TIRUPATI CIRCLE TO BAMROLI KHADI BRIDGE ON LHS 189 WITHIN 2 KM FROM MERA CHOWKDI TOWARDS DASADA ON STATE HIGHWAY 189 WITHIN 2 KM FROM MERA CHOWKDI TOWARDS DASADA ON STATE HIGHWAY 190 FROM KM STONE 290 TO 296, ON NH48, SURAT-MUMBAJ SIDE 191 WITHIN 2 KM FROM VIRPAR CHOWKDI SARA TOWARDS MULI ON SH 192 FROM NH 27 JUNCTION & UNCHI MANDAL ON MORBI HALVAD HIGHWAY 193 MITHIN 1 KM OF THARAD BUS STATION, NOT ON NATIONAL HIGHWAY AND STATE 194 WITHIN 1 KM OF THARAD BUS STATION, NOT ON NATIONAL HIGHWAY AND STATE 195 BANAS KANTHA 196 REGULAR 197 REGULAR 198 WITHIN 1 KM OF THARAD BUS STATION, NOT ON NATIONAL HIGHWAY AND STATE 199 WITHIN 1 KM OF THARAD BUS STATION, NOT ON NATIONAL HIGHWAY AND STATE 190 BANAS KANTHA 191 REGULAR 192 REGULAR 193 MITHIN 1 KM OF THARAD BUS STATION, NOT ON NATIONAL HIGHWAY AND STATE 194 HIGHWAY 195 ROM HATHIJAN CIRCLE TO VASTRAL METRO CIRCLE ON LEFT HAND SIDE OF SP 196 RING ROAD 197 REGULAR 198 AMAM CALLAR 199 OPEN DC 190 30 30 900 32 75 DRAW OF LOTS 15 5 15 0 A 15 5 15 0 DRAW OF LOTS 15 5 15 15 0	184	WITHIN 3KM FROM BAMANBORE TOLL PLAZA TOWARDS LIMBDI LHS ON NH47	SURENDRANAGAR	REGULAR	190	ОВС	DC	35	45	1575	32	95	DRAW OF LOTS	15	4
186 ON RHS WITHIN 6 KMS FROM DWARKESH PARTY PLOT TOWARDS ADALAJ ON SH41 GANDHINAGAR REGULAR 200 OPEN DC 30 30 900 32 75 DRAW OF LOTS 15 5 187 VILLAGE BALETIYA TALUKA KALOL ON SH WITHIN 3 KMS OF INTERSECTIONS OF DELHI MUMBAJE EXPRESSWAY & SH 188 TIRUPATI CIRCLE TO BAMROLI KHADI BRIDGE ON LHS 189 WITHIN 2 KM FROM MERA CHOWKDI TOWARDS DASADA ON STATE HIGHWAY 189 WITHIN 2 KM FROM MERA CHOWKDI TOWARDS DASADA ON STATE HIGHWAY 190 FROM KM STONE 290 TO 296, ON NH48, SURAT-MUMBAJ SIDE 191 WITHIN 2 KM FROM VIRPAR CHOWKDI SARA TOWARDS MULI ON SH 192 FROM NH 27 JUNCTION & UNCHI MANDAL ON MORBI HALVAD HIGHWAY 193 WITHIN 1 KM OF THARAD BUS STATION, NOT ON NATIONAL HIGHWAY AND STATE 194 WITHIN 1 KM OF THARAD BUS STATION, NOT ON NATIONAL HIGHWAY AND STATE 195 BANAS KANTHA 196 REGULAR 197 REGULAR 198 OPEN DC 199 WITHIN 1 KM OF THARAD BUS STATION, NOT ON NATIONAL HIGHWAY AND STATE 199 WITHIN 1 KM OF THARAD BUS STATION, NOT ON NATIONAL HIGHWAY AND STATE 190 BANAS KANTHA 191 REGULAR 192 REGULAR 193 OPEN DC 194 AT VILLAGE CHARANWADA, ON NH 360, TALUKA VANSDA 195 RING ROAD 196 ROM AT VILLAGE CHARANWADA, ON NH 360, TALUKA VANSDA 197 AMMEDABAD 198 REGULAR 199 OPEN DC 190 30 30 900 32 75 DRAW OF LOTS 15 5 15	185	FROM MOTA KHUTVADA TO SHANTINAGAR ON SH 21	BHAVNAGAR	REGULAR	120	ST	CFS	30	30	900	0	0	DRAW OF LOTS	0	3
180 DELHI MUMBAI EXPRESSWAY & SH	186	ON RHS WITHIN 6 KMS FROM DWARKESH PARTY PLOT TOWARDS ADALAJ ON SH41							30				DRAW OF LOTS	15	5
189 WITHIN 2KM FROM MERA CHOWKDI TOWARDS DASADA ON STATE HIGHWAY SURENDRANAGAR REGULAR 150 ST CFS 30 30 900 0 0 DRAW OF LOTS 0 3	187		PANCH MAHALS	REGULAR	180	OPEN CC 1	DC	30	30	900	32	75	DRAW OF LOTS	15	5
PROM KM STONE 290 TO 296, ON NH48, SURAT-MUMBAI SIDE NAVSARI REGULAR 360 OPEN DC 35 45 1575 32 95 DRAW OF LOTS 15 5 191 WITHIN 2KM FROM VIRPAR CHOWKDI SARA TOWARDS MULI ON SH SURENDRANAGAR REGULAR 110 OBC DC 30 30 900 32 75 DRAW OF LOTS 15 4 192 FROM NH 27 JUNCTION & UNCHI MANDAL ON MORBI HALVAD HIGHWAY MORBI REGULAR 100 OPEN DC 30 30 900 32 75 DRAW OF LOTS 15 5 193 WITHIN 1 KM OF THARAD BUS STATION, NOT ON NATIONAL HIGHWAY AND STATE BANAS KANTHA REGULAR 150 OPEN DC 25 25 625 32 55 DRAW OF LOTS 15 5 194 AT VILLAGE CHARANWADA, ON NH 360, TALUKA VANSDA NAVSARI REGULAR 150 OBC DC 25 25 625 32 75 DRAW OF LOTS 15 4 195 FROM HATHIJAN CIRCLE TO VASTRAL METRO CIRCLE ON LEFT HAND SIDE OF SP RING ROAD REGULAR 300 OBC DC 25 25 625 32 75 DRAW OF LOTS 15 4 195 TO THAM THE PROMOFT OF SP TO THAM THE PR	188	TIRUPATI CIRCLE TO BAMROLI KHADI BRIDGE ON LHS	SURAT	REGULAR	325	OBC	CC	25	25	625	32	12	BIDDING	30	4
191 WITHIN 2KM FROM VIRPAR CHOWKDI SARA TOWARDS MULI ON SH SURENDRANAGAR REGULAR 110 OBC DC 30 30 900 32 75 DRAW OF LOTS 15 4 192 FROM NH 27 JUNCTION & UNCHI MANDAL ON MORBI HALVAD HIGHWAY MORBI REGULAR 100 OPEN DC 30 30 900 32 75 DRAW OF LOTS 15 5 193 WITHIN 1 KM OF THARAD BUS STATION, NOT ON NATIONAL HIGHWAY AND STATE HIGHWAY BANAS KANTHA REGULAR 150 OPEN DC 25 25 625 32 55 DRAW OF LOTS 15 5 194 AT VILLAGE CHARANWADA, ON NH 360, TALUKA VANSDA NAVSARI REGULAR 150 ST CFS 35 45 1575 0 0 DRAW OF LOTS 0 3 195 FROM HATHIJAN CIRCLE TO VASTRAL METRO CIRCLE ON LEFT HAND SIDE OF SP RING ROAD AHMEDABAD REGULAR 300 OBC DC 25 25 625 32 75 DRAW OF LOTS 15 4	189	WITHIN 2KM FROM MERA CHOWKDI TOWARDS DASADA ON STATE HIGHWAY	SURENDRANAGAR	REGULAR	150	ST	CFS	30	30	900	0	0	DRAW OF LOTS	0	3
192 FROM NH 27 JUNCTION & UNCHI MANDAL ON MORBI HALVAD HIGHWAY MORBI REGULAR 100 OPEN DC 30 30 900 32 75 DRAW OF LOTS 15 5 193 WITHIN 1 KM OF THARAD BUS STATION, NOT ON NATIONAL HIGHWAY AND STATE HIGHWAY AND STATE HIGHWAY BANAS KANTHA REGULAR 150 OPEN DC 25 25 625 32 55 DRAW OF LOTS 15 5 194 AT VILLAGE CHARANWADA, ON NH 360, TALUKA VANSDA NAVSARI REGULAR 150 ST CFS 35 45 1575 0 0 DRAW OF LOTS 0 3 195 FROM HATHIJAN CIRCLE TO VASTRAL METRO CIRCLE ON LEFT HAND SIDE OF SP RING ROAD AHMEDABAD REGULAR 300 OBC DC 25 25 625 32 75 DRAW OF LOTS 15 4	190	FROM KM STONE 290 TO 296, ON NH48, SURAT-MUMBAI SIDE	NAVSARI	REGULAR	360	OPEN	DC	35	45	1575	32	95	DRAW OF LOTS	15	5
193 WITHIN 1 KM OF THARAD BUS STATION, NOT ON NATIONAL HIGHWAY AND STATE BANAS KANTHA REGULAR 150 OPEN DC 25 25 625 32 55 DRAW OF LOTS 15 5	191	WITHIN 2KM FROM VIRPAR CHOWKDI SARA TOWARDS MULI ON SH	SURENDRANAGAR	REGULAR	110	OBC	DC	30	30	900	32	75	DRAW OF LOTS	15	4
195 HIGHWAY 196 HIGHWAY 197 HIGHWA	192		MORBI	REGULAR	100	OPEN	DC	30	30	900	32	75	DRAW OF LOTS	15	5
194 AT VILLAGE CHARANWADA, ON NH 360, TALUKA VANSDA NAVSARI REGULAR 150 ST CFS 35 45 1575 0 0 DRAW OF LOTS 0 3 195 FROM HATHIJAN CIRCLE TO VASTRAL METRO CIRCLE ON LEFT HAND SIDE OF SP RING ROAD AHMEDABAD REGULAR 300 OBC DC 25 25 625 32 75 DRAW OF LOTS 15 4	193		BANAS KANTHA	REGULAR	150	OPEN	DC	25	25	625	32	55	DRAW OF LOTS	15	5
195 RING ROAD AHMEDABAD REGULAR 300 OBC DC 25 25 625 32 75 DRAW OF LOTS 15 4	194		NAVSARI	REGULAR	150	ST	CFS	35	45	1575	0	0	DRAW OF LOTS	0	3
196 FROM KHORAJ TO SARGASAN CROSS ROAD LHS ON SG HIGHWAY GANDHINAGAR REGULAR 300 OPEN DC 25 25 625 32 75 DRAW OF LOTS 15 5	195		AHMEDABAD	REGULAR	300	ОВС	DC	25	25	625	32	75	DRAW OF LOTS	15	4
	196	FROM KHORAJ TO SARGASAN CROSS ROAD LHS ON SG HIGHWAY	GANDHINAGAR	REGULAR	300	OPEN	DC	25	25	625	32	75	DRAW OF LOTS	15	5

197	KAPURAI CHOWKADI TO TARSALI CHOWKADI ON NH48 TOWARD LHS FROM VADODARA TO KARJAN (WITHIN VMC LIMIT)	VADODARA	REGULAR	360	OPEN	DC	25	25	625	32	75	DRAW OF LOTS	15	5
198	WITHIN 3 KM FROM REGIONAL TRANSPORT OFFICE, PALANPUR TOWARDS AMBAJI	BANAS KANTHA	REGULAR	200	SC	CFS	35	45	1575	0	0	DRAW OF LOTS	0	3
199	ON PALANPUR-AMBAJI HIGHWAY FROM DABHOLI GAM BRTS TOWARDS NANI VED ROAD	SURAT	REGULAR	250	OBC	CC	20	20	525	32	12	BIDDING	30	4
200	FROM KAMREJ GAM TO KAMREJ CHAR RASTA ON LHS	SURAT	REGULAR	215	OPEN	DC	30	30	900	32	75	DRAW OF LOTS	15	5
201	WITHIN 2KM NAVALGADH CANAL CROSSING TOWARDS SURENDRANAGAR ON NH51	SURENDRANAGAR	REGULAR	200	OPEN	DC	35	45	1575	32	95	DRAW OF LOTS	15	5
202	FROM GARIYADHAR TOWARDS NAVAGAM LHS ON SH-21	BHAVNAGAR	REGULAR	120	OBC	DC	30	30	900	32	75	DRAW OF LOTS	15	4
	BETWEEN SG HIGHWAY AND SP RING ROAD JUNCTION ON SCIENCE CITY ROAD,													
203	AHMEDABAD	AHMEDABAD	REGULAR	250	SC	CFS	25	25	625	0	0	DRAW OF LOTS	0	3
204	FROM ANKHI TO JAMBUSAR ON LHS OF ANKHI TO JAMBUSAR ON NH 64	BHARUCH	REGULAR	250	OPEN	DC	35	45	1575	32	95	DRAW OF LOTS	15	5
205	WITHIN 1 KM OF ST XAVIOR SCHOOL, ON RHS OF SHINGI TO VYARA RAILWAY STATION	TAPI	REGULAR	150	OPEN	DC	20	20	525	32	55	DRAW OF LOTS	15	5
206	VILLAGE VALANA IN VIRAMGAM TALUKA ON VIRAMGAM BYPASS ROAD	AHMEDABAD	REGULAR	150	OBC	DC	30	30	900	32	75	DRAW OF LOTS	15	4
207	ON KUVADVA ROAD, BETWEEN PAREWADI CHOWKI & GREENLAND CHOKDI	RAJKOT	REGULAR	150	ST	CFS	25	25	625	0	0	DRAW OF LOTS	0	3
208	ON LHS WITHIN 5 KMS FROM VISHALA CIRCLE TOWARDS NAROL	AHMEDABAD	REGULAR	275	OPEN	CC	25	25	625	32	12	BIDDING	30	5
209	WITHIN 2 KM FROM TOP 3 CIRCLE ON NH51 TOWARDS TALAJA WITHIN MUNICIPAL LIMIT OF BHAVNAGAR	BHAVNAGAR	REGULAR	250	OPEN	DC	25	25	625	32	75	DRAW OF LOTS	15	5
210	LHS SOMNATH TO GADU WITHIN GIR-SOMNATH DISTRICT ON NH-51	GIR SOMNATH	REGULAR	170	OBC	DC	35	45	1575	32	95	DRAW OF LOTS	15	4
211	NANA NAGDAVAS TO KHIRAI, LHS TOWARDS KHIRAI ON NH 27	MORBI	REGULAR	178	OPEN	DC	35	45	1575	32	95	DRAW OF LOTS	15	5
212	UNA BYPASS TO GANGDA ON DWARKA BHAVNAGAR HIGHWAY (NH-51)	GIR SOMNATH	REGULAR	160	SC	CFS	35	45	1575	0	0	DRAW OF LOTS	0	3
213	FROM JAMBUSAR BYPASS POLICE CHOWKI TO DAYADRA ON NH 64	BHARUCH	REGULAR	200	OBC	CC	35	45	1575	32	12	BIDDING	30	4
214	WITHIN 2 KMS FROM FEDRA GALLOPS TOWARDS DHANDUKA ON RHS ON SH	AHMEDABAD	REGULAR	190	OPEN CC 1	DC	30	30	900	32	75	DRAW OF LOTS	15	5
215	IN ADALAJ ON SG HIGHWAY FROM UVARSAD CROSS ROAD TO VAISHNODEVI LHS	GANDHINAGAR	REGULAR	300	OPEN	DC	35	45	1575	32	75	DRAW OF LOTS	15	5
216	FROM SHAMLAJI-MODASA ROAD JUNCTION TO RATANPUR BORDER ON LEFT HAND SIDE OF NH-48	ARVALLI	REGULAR	240	ST	CFS	35	45	1575	0	0	DRAW OF LOTS	0	3
217	WITHIN 2KM FROM ZORAVAR NAGAR POLICE STATION TOWARS WADHWAN IN SURENDRANAGAR	SURENDRANAGAR	REGULAR	110	OBC	DC	25	25	625	32	55	DRAW OF LOTS	15	4
218	FROM SGVP INTERNATIONAL SCHOOL TOWARDS KHORAJ ON LHS ON SG HIGHWAY	GANDHINAGAR	REGULAR	200	OPEN	DC	25	25	625	32	75	DRAW OF LOTS	15	5
219	BETWEEN VYAVAL TO NIZAR ON SH 80	TAPI	REGULAR	150	OPEN	DC	30	30	900	32	75	DRAW OF LOTS	15	5
220	FROM SHANTIPURA CIRCLE TO SHELA FLYOVER ON SPRR EITHER SIDE	AHMEDABAD	REGULAR	300	ST	CFS	25	25	625	0	0	DRAW OF LOTS	0	3
221	VILLAGE NEVRI, MOTAWAGHCHIPPA TO NANPONDHA ON NH 848 RHS FROM SITAPUR TOWARDS BECHRAJI ON VIRAMGAM-BECHRAJI ROAD ON SH7	VALSAD AHMEDABAD	REGULAR REGULAR	150 200	OBC OPEN	DC DC	35 30	45 30	1575 900	32	95 75	DRAW OF LOTS DRAW OF LOTS	15 15	4 5
223	WITHIN AHMEDABAD DISTRICT LIMITS WITHIN 3 KM OF SAMAKHYALI TOLL PLAZA, LHS TOWARDS GANDHIDHAM ON NH	KUTCH	REGULAR	201	OPEN CC 2	DC	35	45	1575	32	95	DRAW OF LOTS	15	5
224	WITHIN 2 KM FROM ARAMBHADA GRAM PANCHAYAT OFFICE TOWARDS PADALI	DEVBHUMI DWARKA	REGULAR	100	OBC CC 1	CC	30	30	900	32	12	BIDDING	30	4
225	VILLAGE NOT ON NH. BETWEEN VILLAGE KANKOT AND VILLAGE KHERVA, ON KUAVDVA WAKANER	MORBI	REGULAR	100	SC CC 1	CFS	30	30	900	0	0	DRAW OF LOTS	0	3
	HIGHWAY													
226	FROM ADAJAN CIRCLE TO CAUSEWAY ROAD ON NEW RANDER ROAD ON LHS	SURAT	REGULAR	250	OPEN	CC	20	20	525	32	12	BIDDING	30	5
227	WITHIN 4 KM FROM TOP 3 CIRCLE ON RING ROAD, BHAVNAGAR	BHAVNAGAR	REGULAR	300	OPEN	DC	25	25	625	32	75	DRAW OF LOTS	15	5
228	FROM VILLAGE VANTHAL TO KAMIJLA ON SH 136	AHMEDABAD	REGULAR	150	OBC	DC	30	30	900	32	75	DRAW OF LOTS	15	4
229	VILLAGE DOTAWADA TO VILLAGE UKHRELI ON RHS OF SH 63 ON NH168A, BETWEEN VILLAGE LAWARA AND VILLAGE NENAVA ON RHS	MAHISAGAR BANAS KANTHA	REGULAR REGULAR	120 400	ST OPEN	CFS DC	30 35	30 45	900 1575	32	95	DRAW OF LOTS DRAW OF LOTS	0 15	3 5
	<u> </u>													
231	WITHIN 5 KM FROM SOSYO CIRCLE	SURAT	REGULAR	260	OPEN	DC	16.5	16.5	500	32	75	DRAW OF LOTS	15	5
232	FROM KAMOD CIRCLE TO BAKROL CIRCLE ON EITHER SIDE OF SP RING ROAD	AHMEDABAD	REGULAR	300	OBC	DC	25	25	625	32	75	DRAW OF LOTS	15	4
233	WITHIN 3 KM FROM GHOGHA CIRCLE IN BHAVNAGAR CITY	BHAVNAGAR	REGULAR	300	OPEN	CC	25	25	625	32	12	BIDDING	30	5
234	RANDHEJA CROSS ROAD TO MANSA ON LHS	GANDHINAGAR	REGULAR	150	SC	CFS	30	30	900	0	0	DRAW OF LOTS	0	3
235	FROM VIRAMGAM TALUKA SADAN TO RAIYAPUR DARWAJA ON EITHER SIDE IN VIRAMGAM	AHMEDABAD	REGULAR	150	OPEN	CC	30	30	900	32	12	BIDDING	30	5
236	FROM PANIKHADAK TO PIPALKHED (VIA MADHAVKHADAK) ON SH 701 EITHER SIDE	NAVSARI	REGULAR	100	OBC	CC	30	30	900	32	12	BIDDING	30	4
237	AT VILLAGE KHODAMBA ON SHAMLAJI JUNCTION TO MODASA ON LHS ON SH 145	ARVALLI	REGULAR	120	OPEN CC 1	DC	30	30	900	32	75	DRAW OF LOTS	15	5

	T	T	1		1						1			
238	WITHIN LIMITS OF GANDHINAGAR MUNICIPAL AREA	GANDHINAGAR	REGULAR	200	ST	CFS	30	30	900	0	0	DRAW OF LOTS	0	3
239	FROM GUNDLAV TO SEGVA ON SH701 ON EITHER SIDE	VALSAD	REGULAR	100	OBC	DC	30	30	900	32	75	DRAW OF LOTS	15	4
240	FROM BAKROL CIRCLE TO VILLAGE KASINDRA ON NH 751	AHMEDABAD	REGULAR	200	OPEN	DC	35	45	1575	32	95	DRAW OF LOTS	15	5
241	SAVARKUNDLA TO NANA LILIYA ON SAVARKUNDLA-LILIYA ROAD	AMRELI	REGULAR	110	OPEN	CC	30	30	900	32	12	BIDDING	30	5
242	VILLAGE DHINAKI ON DWARKA-GURGADH-LIMABDE HIGHWAY.	DEVBHUMI DWARKA	REGULAR	100	OBC	CC	30	30	900	32	12	BIDDING	30	4
243	TALALA POLICE STATION TO RAMRECHI PRIMARY SCHOOL RHS ON TALALA GADU ROAD	GIR SOMNATH	REGULAR	110	ST	CFS	30	30	900	0	0	DRAW OF LOTS	0	3
244	ON 2ND RING ROAD, BETWEEN INTERSECTION WITH SH25(NAVRANG CHOKDI) & ASHAPURA CIRCLE CHOKDI	RAJKOT	REGULAR	150	OPEN	DC	25	25	625	32	75	DRAW OF LOTS	15	5
245	FROM MITHI ROHAR TO PADANA, LHS TOWARDS SAMAKHYALI ON NH41	китсн	REGULAR	461	OPEN	DC	35	45	1575	32	95	DRAW OF LOTS	15	5
246	FROM PANOLI TO VALIA CHOKDI ON BOTH SIDE OF NH48	BHARUCH	REGULAR	350	OBC	CC	35	45	1575	32	12	BIDDING	30	4
247	VILLAGE DOLVAN, WITHIN TOWN LIMITS, TAL: DOLVAN, DIST: TAPI	TAPI	REGULAR	150	ST	CFS	30	30	900	0	0	DRAW OF LOTS	0	3
248	RHS ON CANAL ROAD , NAVYUG SCHOOL TO SITARAM CHOWK	AHMEDABAD	REGULAR	275	OPEN	DC	25	25	625	32	75	DRAW OF LOTS	15	5
249	FROM KESROL TO HINGLOT ON LHS OF SH06 DAHEJ TO BHARUCH	BHARUCH	REGULAR	350	OPEN	CC	30	30	900	32	12	BIDDING	30	5
250	ON SH07,VILLAGE BHATSAN	PATAN	REGULAR	120	OBC PH	DC	30	30	900	32	75	DRAW OF LOTS	15	4
251	ON LHS WITHIN 2.5 KM FROM GOVERNMENT ARTS COLLAGE RANAVAV TOWARDS RAJKOT ON NH27.	PORBANDAR	REGULAR	150	SC PH	CFS	35	45	1575	0	0	DRAW OF LOTS	0	3
252	FROM SHELA BRIDGE VIP ROAD TOWARDS SG HIGHWAY	AHMEDABAD	REGULAR	360	OPEN	CC	25	25	625	32	12	BIDDING	30	5
	ON NANA MAVA ROAD, BETWEEN NANA MAVA CIRCLE AND MOKAJI CIRCLE			150	ODEN	DC	25	25			75	DRAW OF LOTS	15	5
253	,TOWARDS MOKAJI CIRCLE ON LHS	RAJKOT	REGULAR	150	OPEN	DC	25	25	625	32	75	DRAW OF LOTS	15	5
254	FROM NANAPONDHA TO DHARAMPUR ON NH 56 ON EITHER SIDE	VALSAD	REGULAR	185	OBC	DC	35	45	1575	32	95	DRAW OF LOTS	15	4
255	ON SH132, VILLAGE MAVSARI, TALUKA VAV	BANAS KANTHA	REGULAR	100	OPEN	DC	30	30	900	32	75	DRAW OF LOTS	15	5
256	ANYWHERE WITHIN 3 KMS RADIUS IN VANDEMATARAM AREA AHMEDABAD	AHMEDABAD	REGULAR	365	ST	CFS	25	25	625	0	0	DRAW OF LOTS	0	3
257	ON RAJKOT-AHMEDABAD HIGHWAY, BETWEEN HIRASAR AND KUVADVA ,TOWARDS RAJKOT ON LHS ON NH27	RAJKOT	REGULAR	150	OPEN	DC	35	45	1575	32	95	DRAW OF LOTS	15	5
258	WITHIN 4 KM FROM NEW APMC MARKEING YARD KALWAD GATE TOWARDS JAMNAGAR ON NH927D.	JAMNAGAR	REGULAR	150	OBC	DC	35	45	1575	32	95	DRAW OF LOTS	15	4
259	ON BHAGAVATIPURA MAIN ROAD, BETWEEN PAREWADI CHOWK AND BHAGVATIPURA POLICE CHOWKI.	RAJKOT	REGULAR	150	OPEN	CC	25	25	625	32	12	BIDDING	30	5
260	DHARI TO JIRA ON DHARI TULSISHYAM ROAD	AMRELI	REGULAR	120	SC	CFS	30	30	900	0	0	DRAW OF LOTS	0	3
261	WITHIN 4 KM FROM SIDDHIVINAYAK CIRCLE RAVAPAR TOWARDS LILAPAR, ON CANAL ROAD, NOT ON SH OR NH	MORBI	REGULAR	100	OBC	СС	30	30	900	32	12	BIDDING	30	4
262	ON KALAVAD ROAD, WITHIN 3 KM FROM KATARIA CHOWKADI TOWARDS KALAWAD ON EITHER SIDE.	RAJKOT	REGULAR	150	OPEN	DC	25	25	625	32	75	DRAW OF LOTS	15	5
263	WITHIN 3 KM FROM TALUKA PANCHAYAT -BHANVAD.	DEVBHUMI DWARKA	REGULAR	100	OPEN CC 1	CC	30	30	900	32	12	BIDDING	30	5
	WITHIN 3KM ON NH27 RHS TOWARDS SAMAKYALI FROM INTERSECTION OF													
264	GAGODAR-KIDYANAGAR ROAD AND NH27	KUTCH	REGULAR	370	OBC	DC	35	45	1575	32	95	DRAW OF LOTS	15	4
265	AMRELI WITHIN MUNICIPAL LIMITS, NOT ON SH/NH	AMRELI	REGULAR	200	ST	CFS	25	25	625	0	0	DRAW OF LOTS	0	3
266	WITHIN 4 KMS FROM PIPLI T JUNCTION TOWARDS DHOLERA ON EITHER SIDE ON NH 751	AHMEDABAD	REGULAR	180	OPEN	DC	35	45	1575	32	95	DRAW OF LOTS	15	5
267	FROM VAPI TO DEGAM (VIA KARAYA) ON NH 56 ON EITHER SIDE	VALSAD	REGULAR	365	OPEN	DC	35	45	1575	32	95	DRAW OF LOTS	15	5
268	FROM KIKVAD TO BARDOLI ON NH 53 LHS OF VYARA TO SURAT	SURAT	REGULAR	180	OBC	DC	35	45	1575	32	95	DRAW OF LOTS	15	4
269	WITHIN 3KM FROM SAYLA CHOWKDI TOWARDS LIMBDI LHS ON NH47	SURENDRANAGAR	REGULAR	219	ST	CFS	35	45	1575	0	0	DRAW OF LOTS	0	3
270	WITHIN 2 KMS RHS FROM CTM CHAR RASTA TOWARDS NARODA	AHMEDABAD	REGULAR	275	OPEN	CC	25	25	625	32	12	BIDDING	30	5
271													15	5
	AT VILLAGE SALVAV, ON NH 48 MUMBAI SURAT SIDE	VALSAD		400		DC	35	45	1575	32	95	DRAW OF LOTS		
272	AT VILLAGE SALVAV, ON NH 48 MUMBAI SURAT SIDE LHS FROM HATKESHWAR BRIDGE TO AMRAIWADI METRO STATION AHMEDABAD	VALSAD AHMEDABAD	REGULAR REGULAR	400 265	OPEN OPEN	DC DC	35 25	45 25	1575 625	32	95 75	DRAW OF LOTS DRAW OF LOTS	15	5
272	LHS FROM HATKESHWAR BRIDGE TO AMRAIWADI METRO STATION AHMEDABAD	AHMEDABAD	REGULAR REGULAR	265	OPEN OPEN	DC	25	25	625	32	75	DRAW OF LOTS	15	
	LHS FROM HATKESHWAR BRIDGE TO AMRAIWADI METRO STATION AHMEDABAD FROM UMBERGAON TO DAHELI (VIA SANJAN) SH 5 ON RHS	AHMEDABAD VALSAD	REGULAR REGULAR REGULAR	265 180	OPEN OPEN OBC CC 1	DC DC	25 30	25 30	625 900	32 32		DRAW OF LOTS DRAW OF LOTS		5
272 273	LHS FROM HATKESHWAR BRIDGE TO AMRAIWADI METRO STATION AHMEDABAD FROM UMBERGAON TO DAHELI (VIA SANJAN) SH 5 ON RHS FROM DUMALI TO DEVALIYA ON LHS OF NH56, CHHOTA UDEPUR	AHMEDABAD	REGULAR REGULAR REGULAR	265 180 160	OPEN OPEN OBC CC 1 ST CC 1	DC DC CFS	25 30 35	25 30 45	625 900 1575	32 32 0	75 75 0	DRAW OF LOTS DRAW OF LOTS DRAW OF LOTS	15 15 0	5 4
272 273 274	LHS FROM HATKESHWAR BRIDGE TO AMRAIWADI METRO STATION AHMEDABAD FROM UMBERGAON TO DAHELI (VIA SANJAN) SH 5 ON RHS	AHMEDABAD VALSAD CHHOTAUDEPUR	REGULAR REGULAR REGULAR	265 180	OPEN OPEN OBC CC 1	DC DC	25 30	25 30	625 900	32 32	75 75	DRAW OF LOTS DRAW OF LOTS	15 15	5 4 3
272 273 274 275	LHS FROM HATKESHWAR BRIDGE TO AMRAIWADI METRO STATION AHMEDABAD FROM UMBERGAON TO DAHELI (VIA SANJAN) SH 5 ON RHS FROM DUMALI TO DEVALIYA ON LHS OF NH56, CHHOTA UDEPUR MORBI CITY, WITHIN MUNICIPAL LIMIT, NOT ON SH OR NH	AHMEDABAD VALSAD CHHOTAUDEPUR MORBI	REGULAR REGULAR REGULAR REGULAR REGULAR	265 180 160 100	OPEN OPEN OBC CC 1 ST CC 1 OPEN PH	DC DC CFS DC	25 30 35 25	25 30 45 25	625 900 1575 625	32 32 0 32	75 75 0 55	DRAW OF LOTS DRAW OF LOTS DRAW OF LOTS DRAW OF LOTS	15 15 0 15	5 4 3 5
272 273 274 275 276	LHS FROM HATKESHWAR BRIDGE TO AMRAIWADI METRO STATION AHMEDABAD FROM UMBERGAON TO DAHELI (VIA SANJAN) SH 5 ON RHS FROM DUMALI TO DEVALIYA ON LHS OF NH56, CHHOTA UDEPUR MORBI CITY, WITHIN MUNICIPAL LIMIT, NOT ON SH OR NH VILLAGE MITHAPUR FROM BAGODARA TOWARDS LIMDI EITHER SIDE ON NH 47 WITHIN DEESA TOWN MUNICIPAL LIMITS, NOT ON NATIONAL HIGHWAY AND	AHMEDABAD VALSAD CHHOTAUDEPUR MORBI AHMEDABAD	REGULAR REGULAR REGULAR REGULAR REGULAR REGULAR	265 180 160 100 200	OPEN OPEN OBC CC 1 ST CC 1 OPEN PH OBC	DC DC CFS DC DC	25 30 35 25 35	25 30 45 25 45	625 900 1575 625 1575	32 32 0 32 32	75 75 0 55 95	DRAW OF LOTS	15 15 0 15 15	5 4 3 5
272 273 274 275 276	LHS FROM HATKESHWAR BRIDGE TO AMRAIWADI METRO STATION AHMEDABAD FROM UMBERGAON TO DAHELI (VIA SANJAN) SH 5 ON RHS FROM DUMALI TO DEVALIYA ON LHS OF NH56, CHHOTA UDEPUR MORBI CITY, WITHIN MUNICIPAL LIMIT, NOT ON SH OR NH VILLAGE MITHAPUR FROM BAGODARA TOWARDS LIMDI EITHER SIDE ON NH 47 WITHIN DEESA TOWN MUNICIPAL LIMITS, NOT ON NATIONAL HIGHWAY AND STATE HIGHWAY FROM KNOWLEDGE CAMPUS TO NILKANTH AVENUE ON BAKROL VADTAL ROAD ON SH	AHMEDABAD VALSAD CHHOTAUDEPUR MORBI AHMEDABAD BANAS KANTHA	REGULAR REGULAR REGULAR REGULAR REGULAR REGULAR REGULAR	265 180 160 100 200 200	OPEN OPEN OBC CC 1 ST CC 1 OPEN PH OBC OPEN	DC DC CFS DC DC	25 30 35 25 35 25	25 30 45 25 45	625 900 1575 625 1575 625	32 32 0 32 32 32	75 75 0 55 95	DRAW OF LOTS	15 15 0 15 15	5 4 3 5 4
272 273 274 275 276 277	LHS FROM HATKESHWAR BRIDGE TO AMRAIWADI METRO STATION AHMEDABAD FROM UMBERGAON TO DAHELI (VIA SANJAN) SH 5 ON RHS FROM DUMALI TO DEVALIYA ON LHS OF NH56, CHHOTA UDEPUR MORBI CITY, WITHIN MUNICIPAL LIMIT, NOT ON SH OR NH VILLAGE MITHAPUR FROM BAGODARA TOWARDS LIMDI EITHER SIDE ON NH 47 WITHIN DEESA TOWN MUNICIPAL LIMITS, NOT ON NATIONAL HIGHWAY AND STATE HIGHWAY FROM KNOWLEDGE CAMPUS TO NILKANTH AVENUE ON BAKROL VADTAL ROAD	AHMEDABAD VALSAD CHHOTAUDEPUR MORBI AHMEDABAD BANAS KANTHA ANAND	REGULAR REGULAR REGULAR REGULAR REGULAR REGULAR REGULAR REGULAR	265 180 160 100 200 200	OPEN OPEN OBC CC 1 ST CC 1 OPEN PH OBC OPEN SC	DC DC CFS DC DC DC CFS	25 30 35 25 35 25 35	25 30 45 25 45 25 30	625 900 1575 625 1575 625 900	32 0 32 32 32 32	75 75 0 55 95 55	DRAW OF LOTS	15 0 15 15 15 15	5 4 3 5 4 5
272 273 274 275 276 277 278 279	LHS FROM HATKESHWAR BRIDGE TO AMRAIWADI METRO STATION AHMEDABAD FROM UMBERGAON TO DAHELI (VIA SANJAN) SH 5 ON RHS FROM DUMALI TO DEVALIYA ON LHS OF NH56, CHHOTA UDEPUR MORBI CITY, WITHIN MUNICIPAL LIMIT, NOT ON SH OR NH VILLAGE MITHAPUR FROM BAGODARA TOWARDS LIMDI EITHER SIDE ON NH 47 WITHIN DEESA TOWN MUNICIPAL LIMITS, NOT ON NATIONAL HIGHWAY AND STATE HIGHWAY FROM KNOWLEDGE CAMPUS TO NILKANTH AVENUE ON BAKROL VADTAL ROAD ON SH VILLAGE CHANDIYAL ON AHMEDABAD - INDORE HIGHWAY NH47	AHMEDABAD VALSAD CHHOTAUDEPUR MORBI AHMEDABAD BANAS KANTHA ANAND AHMEDABAD	REGULAR REGULAR REGULAR REGULAR REGULAR REGULAR REGULAR REGULAR REGULAR	265 180 160 100 200 200 270 170 200	OPEN OPEN OBC CC 1 ST CC 1 OPEN PH OBC OPEN SC OPEN	DC DC CFS DC DC CFS DC DC	25 30 35 25 35 25 30 35	25 30 45 25 45 25 45 25 30	625 900 1575 625 1575 625 900 1575	32 0 32 32 32 32 0 32	75 75 0 55 95 55 0	DRAW OF LOTS	15 0 15 15 15 15 0 15	5 4 3 5 4 5 3 5
272 273 274 275 276 277 278 279 280	LHS FROM HATKESHWAR BRIDGE TO AMRAIWADI METRO STATION AHMEDABAD FROM UMBERGAON TO DAHELI (VIA SANJAN) SH 5 ON RHS FROM DUMALI TO DEVALIYA ON LHS OF NH56, CHHOTA UDEPUR MORBI CITY, WITHIN MUNICIPAL LIMIT, NOT ON SH OR NH VILLAGE MITHAPUR FROM BAGODARA TOWARDS LIMDI EITHER SIDE ON NH 47 WITHIN DEESA TOWN MUNICIPAL LIMITS, NOT ON NATIONAL HIGHWAY AND STATE HIGHWAY FROM KNOWLEDGE CAMPUS TO NILKANTH AVENUE ON BAKROL VADTAL ROAD ON SH VILLAGE CHANDIYAL ON AHMEDABAD - INDORE HIGHWAY NH47 FROM BHAT TOWARDS MOTERA/KOTESHWAR ROAD	AHMEDABAD VALSAD CHHOTAUDEPUR MORBI AHMEDABAD BANAS KANTHA ANAND AHMEDABAD GANDHINAGAR	REGULAR	265 180 160 100 200 200 170 200 200 200	OPEN OPEN OBC CC 1 ST CC 1 OPEN PH OBC OPEN SC OPEN OBC	DC DC CFS DC DC DC DC DC DC	25 30 35 25 35 25 30 35 30	25 30 45 25 45 25 30 45 30	625 900 1575 625 1575 625 900 1575 900	32 0 32 32 32 32 32 0 32 32	75 75 0 55 95 55 0 95 75	DRAW OF LOTS	15 0 15 15 15 15 15 0 15	5 4 3 5 4 5 3 5

	WITHIN RANAVAV MUNICIPAL LIMIT (NOT ON NH).													4
285		PORBANDAR	REGULAR	100	OBC	DC	30	30	900	32	55	DRAW OF LOTS	15	
	ON LHS WITHIN 6 KMS FROM DWARKESH PARTY PLOT TOWARDS ADALAJ ON SH41 WITHIN 2 KM FROM VADODARA INTERCHANGE-2 OF NH48 AND NE4 (DELHI-	GANDHINAGAR	REGULAR	200	OPEN	DC	30	30	900	32	75	DRAW OF LOTS	15	5
286	MUMBAI EXPRESSWAY) ON NH48	VADODARA	REGULAR	180	OPEN CC 1	DC	35	45	1575	32	95	DRAW OF LOTS	15	5
1 287 1	WITHIN 2 KMS FROM PARISHRAM GURUKAL CHOTILA TOWARDS LIMBDI ON RHS ON NH47	SURENDRANAGAR	REGULAR	155	ST	CFS	35	45	1575	0	0	DRAW OF LOTS	0	3
1 288 1	WITHIN 2KM FROM JUNA AMRAPAR PRIMARY SCHOOL TOWARDS HALVAD ON HALVAD TIKAR HIGHWAY	MORBI	REGULAR	110	OBC	DC	30	30	900	32	75	DRAW OF LOTS	15	4
289 (ON LHS FROM CHANDOLA LAKE TO NAROL CHOKDI AHMEDABAD CITY	AHMEDABAD	REGULAR	360	OPEN	CC	25	25	625	32	12	BIDDING	30	5
I 290 I	FROM SURAT BARDOLI ROAD TO DINDOLI KHARWASA ROAD ON OUTER RING ROAD	SURAT	REGULAR	225	OPEN	DC	30	30	900	32	55	DRAW OF LOTS	15	5
-		AHMEDABAD	REGULAR	300	OBC	CC	25	25	625	32	12	BIDDING	30	4
	WITHIN 2KM FROM ANKUR VIDYA SANKUL AMRAPUR GIR ON MALIYA- SASAN GIR ROAD.	JUNAGADH	REGULAR	100	ST	CFS	30	30	900	0	0	DRAW OF LOTS	0	3
793 1	ON GONDAL ROAD, WITHIN 1 KM OF PD MALAVIYA COLLEGE RAJKOT TOWARDS GONDAL CHOWKADI	RAJKOT	REGULAR	150	OPEN	DC	25	25	625	32	75	DRAW OF LOTS	15	5
1 794 1	WITHIN 1 KM FROM KHALILPUR CHOWKDI ON OLD JUNAGADH BYPASS ROAD, JUNAGADH.	JUNAGADH	REGULAR	150	OPEN	DC	30	30	900	32	95	DRAW OF LOTS	15	5
_		MORBI	REGULAR	100	OBC	DC	30	30	900	32	75	DRAW OF LOTS	15	4
	WITHIN 3 KM RADIUS OF RAMESHWAR CHILDREN HOSPITAL TALALA TOWN ON SH, NOT ON TALALA-RAMRECHI ROAD	GIR SOMNATH	REGULAR	120	SC	CFS	30	30	900	0	0	DRAW OF LOTS	0	3
1 29/ 1	WITHIN 3 KM FROM SAMRPAN CIRCLE ON MAIN ROAD ROAD TOWARDS NILKANTH PARK, JAMNAGAR CITY	JAMNAGAR	REGULAR	150	OPEN	DC	25	25	625	32	75	DRAW OF LOTS	15	5
-	,	KUTCH	REGULAR	200	OPEN	DC	30	30	900	32	75	DRAW OF LOTS	15	5
	WITHIN 2 KM FROM PRAMUKH SWAMI DWAR (BAPS -TIMBAVADI DWAR) JUNAGADH TOWARDS VANTHALI.	JUNAGADH	REGULAR	150	OBC	DC	30	30	900	32	95	DRAW OF LOTS	15	4
300 \	VILLAGE DHRABAVAD TO LADUDI GIR ON GADU-LADUDI-TALALA HIGHWAY.	JUNAGADH	REGULAR	100	ST	CFS	30	30	900	0	0	DRAW OF LOTS	0	3
I 301 I	ON AIRPORT MAIN ROAD, WITHIN 1 KM FROM HANUMAN MADHI CHOWK TOWARDS RAJKOT AIRPORT	RAJKOT	REGULAR	150	OPEN	DC	25	25	625	32	75	DRAW OF LOTS	15	5
1 302 1	ON LHS, KOYALI TO VADHAVI TOWARDS JETPUR ON JUNAGADH NEW BYPASS ON NH151.	JUNAGADH	REGULAR	150	OBC	DC	35	45	1575	32	95	DRAW OF LOTS	15	4
303	WITHIN 4 KM FROM LALPUR CHOWKDI TOWARDS LALPUR ON JAMNAGAR LALPUR HIGHWAY	JAMNAGAR	REGULAR	100	OPEN	DC	30	30	900	32	75	DRAW OF LOTS	15	5
1 304 1	ON SANJOGNAR CIRCLE TO MANGLAM CIRCLE CONNECTING ROAD IN BHUJ CITY, TA. BHUJ	китсн	REGULAR	185	OPEN	CC	30	30	900	32	12	BIDDING	30	5
	WITHIN 3 KM FROM SIGNATURE BRIDGE OKHA (BET-DWARKA) TOWARDS DWARKA ON NH51.	DEVBHUMI DWARKA	REGULAR	150	ST	CFS	35	45	1575	0	0	DRAW OF LOTS	0	3
306 F	RATANPAR TO ODADAR ON PORBANDAR BYPASS HIGHWAY ON NH51.	PORBANDAR	REGULAR	150	OBC	CC	35	45	1575	32	12	BIDDING	30	4
1 307 1	WITHIN 2 KM FROM NH 27 JUNCTION LHS TOWARDS JETPAR, ON MORBI JETPAR HIGHWAY	MORBI	REGULAR	100	OPEN	DC	30	30	900	32	75	DRAW OF LOTS	15	5
1 308 1	ON RAJKOT JAMNAGAR HIGHWAY, WITHIN 6 KM FROM PADDHARI TOLL NAKA ON LHS TOWARDS RAJKOT	RAJKOT	REGULAR	100	OPEN	DC	30	30	900	32	75	DRAW OF LOTS	15	5
	BETWEEN VILLAGE TITHVA & VILLAGE RATIDEVADI, ON HIGHWAY CONNECTING LAJAI AND WAKANER	MORBI	REGULAR	100	ST	CFS	30	30	900	0	0	DRAW OF LOTS	0	3
1 310 1	ON RHS AND WITHIN 2KM FROM ADESAR POLICE CHECKPOST TOWARDS SAMAKHYALI ON NH 27 IN DIST. KUTCH	китсн	REGULAR	207	OBC	DC	35	45	1575	32	95	DRAW OF LOTS	15	4
1 311 1	ON 2ND RING ROAD, BETWEEN BEDI CHOWK AND SOKHADA CHOWKDI ON RHS TOWARDS KUVADVA.	RAJKOT	REGULAR	150	OPEN	DC	25	25	625	32	75	DRAW OF LOTS	15	5
	, , ,	KUTCH	REGULAR	155	OPEN CC 1	DC	35	45	1575	32	95	DRAW OF LOTS	15	5
313	FROM GADU TO JADKA (ZADKA) ON LHS TOWARDS JUNAGADH ON NATIONAL HIGHWAY NH151.	JUNAGADH	REGULAR	150	OBC	CC	35	45	1575	32	12	BIDDING	30	4
314 1	WITHIN 4 KM FROM GOVT. ARTS COLLAGE,KALYANPUR ON KALYANPUR- JAMRAVAL ROAD, TALUKA KALYANPUR.	DEVBHUMI DWARKA	REGULAR	100	SC	CFS	30	30	900	0	0	DRAW OF LOTS	0	3
1 315 1	BETWEEN KUTCH ARCADE COMPLEX AND VILL. SINUGRA ON RHS TOWARDS MUNDRA ON NH41	китсн	REGULAR	370	OPEN	CC	35	45	1575	32	12	BIDDING	30	5
1 316 1	ON SHAPAR-PADAVALA ROAD, WITHIN 1 KM FROM VASANGIDADA MANDIR CHOWK TOWARDS PADAVALA	RAJKOT	REGULAR	150	OPEN	DC	25	25	625	32	75	DRAW OF LOTS	15	5
1 31/ 1	ON NATIONAL HIGHWAY NH927D, WITHIN 2 KM FROM CAPTAIN GINNING & PRESSING FACTORY TOWARDS DHORAJI	RAJKOT	REGULAR	150	OBC	DC	35	45	1575	32	95	DRAW OF LOTS	15	4
		JUNAGADH	REGULAR	150	ST	CFS	35	45	1575	0	0	DRAW OF LOTS	0	3
319	ON DHARAMSHI KORAT ROAD, WITHIN 1 KM OF DHARAMSHI KORAT CHOWK (ON KALAVAD RD)TOWARDS UNIVERSITY ROAD	RAJKOT	REGULAR	150	OPEN	DC	25	25	625	32	75	DRAW OF LOTS	15	5

320	WITHIN 2KM FROM TATA POWER CHOWK TOWARDS SIRACHA ON MANDVI- MUNDRA HIGHWAY	китсн	REGULAR	135	OPEN	DC	30	30	900	32	75	DRAW OF LOTS	15	5
321	FROM SP OFFICE TO IFFCO COLONY ON RABINDRANATH TAGORE ROAD	KUTCH	REGULAR	255	OBC	DC	30	30	900	32	75	DRAW OF LOTS	15	4
322	ON RAJKOT JAMNAGAR HIGHWAY, WITHIN 6 KM OF MADHAPAR CHOWK ON LHS TOWARDS JAMNAGAR.	RAJKOT	REGULAR	150	OPEN	DC	30	30	900	32	75	DRAW OF LOTS	15	5
323	FROM MEGHRAJ MAMLATDAR OFFICE TO MALPUR BUS STAND ON SH	ARVALLI	REGULAR	130	ST CC 1	CFS	30	30	900	0	0	DRAW OF LOTS	0	3
324	WITHIN 2 KM FROM T JUNCTION OF BARWALA TOWARDS VALLIBHIPUR ON LHS ON SH 117	BOTAD	REGULAR	120	OPEN CC 2	DC	30	30	900	32	75	DRAW OF LOTS	15	5
325	AGATRAI ON LHS TOWARD KESHOD ON NATIONAL HIGHWAY 151.	JUNAGADH	REGULAR	150	OBC CC 1	CC	35	45	1575	32	12	BIDDING	30	4
	BETWEEN KHAMBHALIA GATE AND SANGAM BAUG ON JAMNAGAR-SAMANA													
326	ROAD, JAMNAGAR CITY	JAMNAGAR	REGULAR	150	OPEN	DC	25	25	625	32	75	DRAW OF LOTS	15	5
327	ON PUNIT NAGAR ROAD, BETWEEN KANGSIYALI ROAD JUNCTION AND VRINDAVAN GREEN ROAD JUNCTION.	RAJKOT	REGULAR	150	ST	CFS	25	25	625	0	0	DRAW OF LOTS	0	3
328	AT SHEHERA ON SH WITHIN TOWN LIMITS	PANCH MAHALS	REGULAR	125	OBC	CC	25	25	625	32	12	BIDDING	30	4
329	WIHTIN MUNICIPAL LIMIT OF BOTAD TOWN NOT ON SH OR NH	BOTAD	REGULAR	180	OPEN	DC	25	25	625	32	55	DRAW OF LOTS	15	5
330	BETWEEN JADESHWAR PARK BUS STAND AND BHAGWATDHAM GURUKUL IN DHANGHADRA TOWN	SURENDRANAGAR	REGULAR	110	OPEN	CC	25	25	625	32	12	BIDDING	30	5
331	BETWEEN PALOD TO KAMREJ SUGAR FACTORY ON NH 48 LHS OF BHARUCH TO SURAT	SURAT	REGULAR	300	OBC	DC	35	45	1575	32	95	DRAW OF LOTS	15	4
332	IN BETWEEN VILLAGE KHANPUR AND SINDHROT ON STATE HIGHWAY	VADODARA	REGULAR	180	SC	CFS	30	30	900	0	0	DRAW OF LOTS	0	3
333	WITHIN 2 KM OF SHRI KRISHNA KHANDSARI TO MATAVAL ON LHS OF KHANDSARI TO MATAVAL NH753B	TAPI	REGULAR	250	OPEN	СС	35	45	1575	32	12	BIDDING	30	5
334	ON NH27, BETWEEN VILLAGE KHIMANA AND SHIHORI	BANAS KANTHA	REGULAR	150	OPEN	DC	35	45	1575	32	95	DRAW OF LOTS	15	5
335	FROM KM STONE 300 TO 305, ON NH 48, MUMBAI SURAT SIDE	NAVSARI	REGULAR	350	OBC	DC	35	45	1575	32	95	DRAW OF LOTS	15	4
336	WITHIN 7 KMS FROM T-JUNTION RHS ON SH69 DEHGAM-BAYAD ROAD	GANDHINAGAR	REGULAR	200	ST	CFS	30	30	900	0	0	DRAW OF LOTS	0	3
337	ON LHS WITHIN 1 KM FROM SHILAJ CIRCLE TO SCIENCE CITY ON SP RING ROAD AHMEDABAD CITY	AHMEDABAD	REGULAR	405	OPEN	CC	25	25	625	32	12	BIDDING	30	5
338	IN BETWEEN JAROD TO LILORA ON HARNI-HALOL ROAD (LHS) ON SH	VADODARA	REGULAR	150	OPEN CC 1	DC	30	30	900	32	75	DRAW OF LOTS	15	5
339	FROM UBHRAT TO VESMA (VIA DABHEL) ON SH 195 ON LHS	NAVSARI	REGULAR	175	OBC	DC	30	30	900	32	75	DRAW OF LOTS	15	4
340	ON NH27 , BETWEEN DEESA AND VILLAGE MALGADH ON LHS	BANAS KANTHA	REGULAR	250	ST	CFS	35	45	1575	0	0	DRAW OF LOTS	0	3
341	ON LHS FROM SONI NI CHALI FLYOVER BRIDGE TOWARDS ODHAV CIRCLE AHMEDABAD CITY	AHMEDABAD	REGULAR	310	OPEN	СС	25	25	625	32	12	BIDDING	30	5
342	HARSIDDHI MATA MANDIR, RAJPIPLA TO GUJARAT FOREST RANGERS COLLEGE, RAJPIPLA TOWN	NARMADA	REGULAR	200	OPEN	DC	20	20	525	32	55	DRAW OF LOTS	15	5
343	BETWEEN VILLAGE VALLABHIPUR AND KANTHARIYA ON SH-38	BHAVNAGAR	REGULAR	120	OBC	DC	30	30	900	32	75	DRAW OF LOTS	15	4
344	WITHIN 5KMS FROM GODHAVI TOWARDS BOPAL ON BOPAL-GHUMA ROAD	AHMEDABAD	REGULAR	200	OPEN	DC	30	30	900	32	55	DRAW OF LOTS	15	5
345	FROM SHREEJI CARTING CHOWK TOWARDS SMC OVERHEAD TANK VARIAV ON NEW OUTER RING ROAD ON LHS	SURAT	REGULAR	265	ST	CFS	25	25	625	0	0	DRAW OF LOTS	0	3
346	AFTER 3KM AND BEFORE 5 KM FROM BHACHAU BUS STAND, LHS TOWARDS SAMAKHYALI ON NH41	KUTCH	REGULAR	1017	OPEN	DC	35	45	1575	32	95	DRAW OF LOTS	15	5
347	ON SH54, VILLAGE MALUPUR, TALUKA THARAD	BANAS KANTHA	REGULAR	200	OBC	CC	30	30	900	32	12	BIDDING	30	4
	WITHIN 2 KM FROM KESHOD CHAR CHOWK TOWARDS MENDARDA ON KESHOD-													
348	KANERI-MENDARDA HIGHWAY.	JUNAGADH	REGULAR	105	OPEN	DC	30	30	900	32	75	DRAW OF LOTS	15	5
349	FROM MEGHPAR TO GHANSHYAMNAGAR ON BHACHAU-MANFARA ROAD	китсн	REGULAR	130	SC PH	CFS	30	30	900	0	0	DRAW OF LOTS	0	3
350	WITHIN 5 KM FROM GULABNAGAR POLICE CHOWKI TOWARDS RAJKOT ON JAMNAGAR-RAJKOT ROAD, JAMNAGAR CITY	JAMNAGAR	REGULAR	150	OBC PH	DC	25	25	625	32	75	DRAW OF LOTS	15	4
351	FROM NAVI PARDI TO PALOD ON NH48 LHS OF SURAT TO AHMEDABAD	SURAT	REGULAR	250	OPEN	DC	35	45	1575	32	95	DRAW OF LOTS	15	5
1	I		REGULAR	300	OPEN	CC	25	25	625	32	12	BIDDING	30	5
352	FROM JAGANNATH TEMPLE ON JAMALPUR ST ROAD TO MANINAGAR DIST AHMEDABAD	AHMEDABAD	REGULAR											
353	AHMEDABAD VILLAGE SHERTA ON KALOL-AHMEDABAD ROAD SH41 LHS	GANDHINAGAR	REGULAR	200	OBC	DC	30	30	900	32	75	DRAW OF LOTS	15	4
	AHMEDABAD VILLAGE SHERTA ON KALOL-AHMEDABAD ROAD SH41 LHS AT VILLAGE DIXAL, DIXAL TO SUTHARPADA ON LHS ON NH 848				OBC ST	DC CFS	30 35	30 45	900 1575	32 0	75 0	DRAW OF LOTS DRAW OF LOTS	15 0	3
353	AHMEDABAD VILLAGE SHERTA ON KALOL-AHMEDABAD ROAD SH41 LHS	GANDHINAGAR	REGULAR	200										
353 354	AHMEDABAD VILLAGE SHERTA ON KALOL-AHMEDABAD ROAD SH41 LHS AT VILLAGE DIXAL, DIXAL TO SUTHARPADA ON LHS ON NH 848 WITHIN 4 KM FROM ARTO BARDOLI WITHIN MUNCIPAL LIMITS OF BARDOLI AND	GANDHINAGAR VALSAD	REGULAR REGULAR	200 180	ST	CFS	35	45	1575	0	0	DRAW OF LOTS	0	3
353 354 355	AHMEDABAD VILLAGE SHERTA ON KALOL-AHMEDABAD ROAD SH41 LHS AT VILLAGE DIXAL, DIXAL TO SUTHARPADA ON LHS ON NH 848 WITHIN 4 KM FROM ARTO BARDOLI WITHIN MUNCIPAL LIMITS OF BARDOLI AND NOT ON SH/NH ON NH27, BETWEEN AROMA CIRCLE AND KHEMANA TOLL PLAZA FROM NARMADA CHOKDI TO VAGUSANA ON LHS OF NH48, BHARUCH TO	GANDHINAGAR VALSAD SURAT	REGULAR REGULAR REGULAR	200 180 230	ST OPEN	CFS CC	35 30	45 30	1575 900	0 32	0 12	DRAW OF LOTS BIDDING	0 30	3 5
353 354 355 356	AHMEDABAD VILLAGE SHERTA ON KALOL-AHMEDABAD ROAD SH41 LHS AT VILLAGE DIXAL, DIXAL TO SUTHARPADA ON LHS ON NH 848 WITHIN 4 KM FROM ARTO BARDOLI WITHIN MUNCIPAL LIMITS OF BARDOLI AND NOT ON SH/NH ON NH27, BETWEEN AROMA CIRCLE AND KHEMANA TOLL PLAZA	GANDHINAGAR VALSAD SURAT BANAS KANTHA	REGULAR REGULAR REGULAR	200 180 230 250	ST OPEN OPEN	CFS CC DC	35 30 35	45 30 45	1575 900 1575	0 32 32	0 12 95	DRAW OF LOTS BIDDING DRAW OF LOTS	0 30 15	3 5 5
353 354 355 356 357	AHMEDABAD VILLAGE SHERTA ON KALOL-AHMEDABAD ROAD SH41 LHS AT VILLAGE DIXAL, DIXAL TO SUTHARPADA ON LHS ON NH 848 WITHIN 4 KM FROM ARTO BARDOLI WITHIN MUNCIPAL LIMITS OF BARDOLI AND NOT ON SH/NH ON NH27, BETWEEN AROMA CIRCLE AND KHEMANA TOLL PLAZA FROM NARMADA CHOKDI TO VAGUSANA ON LHS OF NH48, BHARUCH TO VADODARA ON SH131, BETWEEN RADHANPUR AND VILLAGE MASHALI ON GONDAL ROAD, WITHIN 1 KM OF ST WORK SHOP, RAJKOT TOWARDS GONDAL	GANDHINAGAR VALSAD SURAT BANAS KANTHA BHARUCH	REGULAR REGULAR REGULAR REGULAR REGULAR	200 180 230 250 350	ST OPEN OPEN OBC	CFS CC DC DC	35 30 35 35	45 30 45 45	1575 900 1575 1575	0 32 32 32	0 12 95 95	DRAW OF LOTS BIDDING DRAW OF LOTS DRAW OF LOTS	0 30 15 15	3 5 5 4
353 354 355 356 357 358 359	AHMEDABAD VILLAGE SHERTA ON KALOL-AHMEDABAD ROAD SH41 LHS AT VILLAGE DIXAL, DIXAL TO SUTHARPADA ON LHS ON NH 848 WITHIN 4 KM FROM ARTO BARDOLI WITHIN MUNCIPAL LIMITS OF BARDOLI AND NOT ON SH/NH ON NH27, BETWEEN AROMA CIRCLE AND KHEMANA TOLL PLAZA FROM NARMADA CHOKDI TO VAGUSANA ON LHS OF NH48, BHARUCH TO VADODARA ON SH131, BETWEEN RADHANPUR AND VILLAGE MASHALI ON GONDAL ROAD, WITHIN 1 KM OF ST WORK SHOP, RAJKOT TOWARDS GONDAL CHOWKADI	GANDHINAGAR VALSAD SURAT BANAS KANTHA BHARUCH PATAN RAJKOT	REGULAR REGULAR REGULAR REGULAR REGULAR REGULAR REGULAR	200 180 230 250 350 105	ST OPEN OPEN OBC ST OPEN	CFS CC DC DC CFS DC	35 30 35 35 30 25	45 30 45 45 30 25	1575 900 1575 1575 900 625	0 32 32 32 32 0	0 12 95 95 0 75	DRAW OF LOTS BIDDING DRAW OF LOTS DRAW OF LOTS DRAW OF LOTS DRAW OF LOTS	0 30 15 15 0	3 5 5 4 3 5
353 354 355 356 357 358	AHMEDABAD VILLAGE SHERTA ON KALOL-AHMEDABAD ROAD SH41 LHS AT VILLAGE DIXAL, DIXAL TO SUTHARPADA ON LHS ON NH 848 WITHIN 4 KM FROM ARTO BARDOLI WITHIN MUNCIPAL LIMITS OF BARDOLI AND NOT ON SH/NH ON NH27, BETWEEN AROMA CIRCLE AND KHEMANA TOLL PLAZA FROM NARMADA CHOKDI TO VAGUSANA ON LHS OF NH48, BHARUCH TO VADODARA ON SH131, BETWEEN RADHANPUR AND VILLAGE MASHALI ON GONDAL ROAD, WITHIN 1 KM OF ST WORK SHOP, RAJKOT TOWARDS GONDAL	GANDHINAGAR VALSAD SURAT BANAS KANTHA BHARUCH PATAN	REGULAR REGULAR REGULAR REGULAR REGULAR REGULAR	200 180 230 250 350	ST OPEN OPEN OBC ST	CFS CC DC DC CFS	35 30 35 35 35	45 30 45 45 30	1575 900 1575 1575 900	0 32 32 32 32	0 12 95 95	DRAW OF LOTS BIDDING DRAW OF LOTS DRAW OF LOTS DRAW OF LOTS	0 30 15 15	3 5 5 4 3

363	WITHIN 5 KM FROM SHIVAJI CIRCLE BHAVNAGAR ON SH-37, WITHIN MUNICIPAL LIMIT OF BHAVNAGAR	BHAVNAGAR	REGULAR	300	SC	CFS	25	25	625	0	0	DRAW OF LOTS	0	3
364	WITHIN NADIAD MUNICIPAL LIMITS NOT ON NH/SH	KHEDA	REGULAR	150	OPEN CC 1	DC	30	30	900	32	55	DRAW OF LOTS	15	5
365	AT VILLAGE GADHADA ON GADHADA BOTAD ROAD, TALUKA GADHADA ON SH-21	BOTAD	REGULAR	120	OBC	DC	30	30	900	32	75	DRAW OF LOTS	15	4
366	ON LHS FROM DELHI DARWAZA TO PREM DARWAJA ON RAILWAY STATION ROAD AHMEDABAD CITY	AHMEDABAD	REGULAR	340	OPEN	СС	25	25	625	32	12	BIDDING	30	5
367	LHS FROM VAISHNO DEVI CIRCLE TO ZUNDAL CIRCLE ON SP RING ROAD AHMEDABAD	AHMEDABAD	REGULAR	250	ST	CFS	25	25	625	0	0	DRAW OF LOTS	0	3
368	BETWEEN BHADBHID TOLL PLAZA TO NIRMA CROSS ON LHS ON NH-751, DISTRICT BHAVNAGAR	BHAVNAGAR	REGULAR	210	OPEN	СС	35	45	1575	32	12	BIDDING	30	5
369	WITHIN 5 KM OF BHARUCH RAILWAY STATION WITHIN BHARUCH MUNICIPAL LIMIT	BHARUCH	REGULAR	200	OBC	DC	35	45	1575	32	55	DRAW OF LOTS	15	4
370	FROM MUKTI CHOWKDI TO GATTU CHOKDI, ANKLESHWAR GIDC	BHARUCH	REGULAR	250	OPEN	DC	30	30	900	32	55	DRAW OF LOTS	15	5
371	WITHIN 2KM FROM KOTHARIYA PRIMARY SCHOOL TOWARDS LAKHTAR ON STATE HIGHWAY	SURENDRANAGAR	REGULAR	115	OPEN	DC	30	30	900	32	75	DRAW OF LOTS	15	5
372	DHARI TO VEKARIYA ON DHARI VISAVADAR ROAD	AMRELI	REGULAR	120	ST CC 1	CFS	30	30	900	0	0	DRAW OF LOTS	0	3
373	IN VILLAGE CHHAPRA ON MEHDABAD-KHEDA ROAD ON SH	KHEDA	REGULAR	100	OBC CC 1	CC	30	30	900	32	12	BIDDING	30	4
374	3KM FROM LEELA CIRCLE TOWARDS SIDSAR ON BHAVNAGAR SIDSAR ROAD IN BHAVNAGAR CITY	BHAVNAGAR	REGULAR	300	OPEN	DC	25	25	625	32	75	DRAW OF LOTS	15	5
375	BETWEEN DHODESHWAR RAILWAY CROSSING AND NAVAGAM CHOWKDI IN THANGADH	SURENDRANAGAR	REGULAR	145	OPEN PH	DC	30	30	900	32	75	DRAW OF LOTS	15	5
376	WITHIN 2 KM FROM SUKHPUR RAILWAY CROSSING (JUNAGADH) TOWARDS DHORAJI ON JUNAGADH-DHORAJI HIGHWAY.	JUNAGADH	REGULAR	105	ST	CFS	30	30	900	0	0	DRAW OF LOTS	0	3
377	ON SH07, BETWEEN VILLAGE BHACHALVA AND TALEGADH	BANAS KANTHA	REGULAR	200	OBC	CC	30	30	900	32	12	BIDDING	30	4
378	ON RAJKOT-KALAVAD HIGHWAY, BETWEEN VILLAGE KHIRASARA AND VILLAGE CHHAPRA.	RAJKOT	REGULAR	100	OPEN	DC	30	30	900	32	75	DRAW OF LOTS	15	5
379	WITHIN 2KM FROM MORTHALA VILLAGE CHOWKDI TOWARDS THANGADH ON SH	SURENDRANAGAR	REGULAR	102	OBC	DC	30	30	900	32	75	DRAW OF LOTS	15	4
380	WITHIN 2KM FROM GEBANSHAH PIR CIRCLE SURENDRANAGAR TOWARDS LAKHTAR ON STATE HIGHWAY	SURENDRANAGAR	REGULAR	140	SC	CFS	30	30	900	0	0	DRAW OF LOTS	0	3
381	BETWEEN KM STONE 27 TO 32 ON NH 53 LHS OF HAZIRA TO PALSANA	SURAT	REGULAR	250	OPEN	DC	35	45	1575	32	95	DRAW OF LOTS	15	5
382	FROM KANDARI TO POR ON LHS ON NH 48	VADODARA	REGULAR	330	OPEN	DC	35	45	1575	32	95	DRAW OF LOTS	15	5
383	WITHIN 2 KMS ON RHS FROM SHILAJ RAILWAY BRIDGE TO BAGBAN PARTY PLOT ON SHILAJ THALTEJ ROAD	AHMEDABAD	REGULAR	325	OPEN	CC	25	25	625	32	12	BIDDING	30	5
384	WITHIN LIMITS OF MANSA NAGARPALIKA	GANDHINAGAR	REGULAR	200	OBC	DC	25	25	625	32	55	DRAW OF LOTS	15	4
385	RHS TOWARDS SHIKARPUR ON NH27 BETWEEN SAMAKHYALI AND SHIKARPUR	китсн	REGULAR	174	ST	CFS	35	45	1575	0	0	DRAW OF LOTS	0	3
386	ON PUSHKARDHAM ROAD, BETWEEN JK CHOWK AND PUSHKARDHAM ROAD'S INSTERSECTION WITH KALAVAD ROAD.	RAJKOT	REGULAR	150	OPEN	DC	25	25	625	32	75	DRAW OF LOTS	15	5
387	ON AIIMS BYPASS ROAD, BETWEEN AIIMS CIRCLE AND INTERSECTION OF AIIMS BYPASS ROAD AND KHANDERI ROAD.	RAJKOT	REGULAR	150	OPEN CC 1	DC	25	25	625	32	75	DRAW OF LOTS	15	5
388	WITHIN 5 KMS FROM DHOLERA TO DHANDUKA ON SH 20	AHMEDABAD	REGULAR	150	OBC	DC	30	30	900	32	75	DRAW OF LOTS	15	4
389	WITHIN TOWN LIMITS OF DHOLKA	AHMEDABAD	REGULAR	175	ST	CFS	30	30	900	0	0	DRAW OF LOTS	0	3
390	ON 2ND RING ROAD, BETWEEN KORAT CHOWK (NH27) AND TILALA CHOWK (2ND RING ROAD)	RAJKOT	REGULAR	150	OPEN	DC	25	25	625	32	75	DRAW OF LOTS	15	5
391	ON LHS WITHIN 2 KM FROM PORBANDAR ROAD JUNCTION AT GADU TOWARDS SOMNATH ON NH51 / NH151.	JUNAGADH	REGULAR	150	OBC	DC	35	45	1575	32	95	DRAW OF LOTS	15	4
392	WITHIN 5 KM FROM KALAWAD VAVDI HIGHWAY JUNCTION ON SANALA CHHATAR HIGHWAY	JAMNAGAR	REGULAR	100	OPEN	DC	30	30	900	32	75	DRAW OF LOTS	15	5
393	ON SH54, BETWEEN VILLAGE VAJEGADH AND KARNASAR ON LHS	BANAS KANTHA	REGULAR	300	OPEN	DC	30	30	900	32	75	DRAW OF LOTS	15	5
394	′	DANG	REGULAR	265	ST	CFS	35	45	1575	0	0	DRAW OF LOTS	0	3
395	WITHIN 5 KM FROM MADHUBAN CIRCLE ADAJAN	SURAT	REGULAR	450	OBC	DC	20	20	525	32	75	DRAW OF LOTS	15	4
396		SURAT	REGULAR	270	OPEN	CC	30	30	900	32	12	BIDDING	30	5
397	BETWEEN VILLAGE NAVI MORWAD AND VILLAGE VASTADI TOWARDS LIMBDI ON LHS ON NH47	SURENDRANAGAR	REGULAR	219	OPEN	DC	35	45	1575	32	95	DRAW OF LOTS	15	5
398	ON BHAVNAGAR- RAJKOT ROAD (SH-25),WITHIN 1KM FROM AJI DAM CHOWKDI TOWARDS SARDHAR.	RAJKOT	REGULAR	150	SC	CFS	25	25	625	0	0	DRAW OF LOTS	0	3
399	WITHIN 3KM FROM VILLAGE SADALA TOWARDS MULI ON MULI SARA STATE HIGHWAY	SURENDRANAGAR	REGULAR	100	OBC	DC	30	30	900	32	75	DRAW OF LOTS	15	4
-	FROM BHARUCH RAILWAY STATION TO ZADHESHWAR CHOWKDI ON BOTH SIDE OF													

402 FRO 403 FRO 404 BET' EITH 405 WIT 406 KOD 407 KHA 408 AMF	OM VISAT CIRCLE TO TAPOVAN CIRCLE ON SP RING ROAD ON EITHER SIDE OM AKBARNAGAR CHOWK TO NEW RANIP BRIDGE	AHMEDABAD AHMEDABAD	REGULAR	150	OPEN	CC	30	30	900	32	12	BIDDING	30	5
403 FRO 404 BET' EITH 405 WIT 406 KOD 407 KHA 408 AMI	OM AKBARNAGAR CHOWK TO NEW RANIP BRIDGE	AHMEDABAD												
404 BET' EITH 405 WIT 406 KOD 407 KHA 408 AMI			REGULAR	275	OBC	DC	25	25	625	32	75	DRAW OF LOTS	15	4
404 EITH 405 WIT 406 KOD 407 KHA 408 AMI		AHMEDABAD	REGULAR	250	SC	CFS	25	25	625	0	0	DRAW OF LOTS	0	3
406 KOE 407 KHA 408 AMI	TWEEN PODAR INTERNATIONAL SCHOOL TO SISODRA JUNCTION ON NH 48 ON IHER SIDE, ON SH 180	NAVSARI	REGULAR	130	OPEN	DC	30	30	900	32	75	DRAW OF LOTS	15	5
407 KHA 408 AME 409 WIT	ITHIN 3KM FROM SAROVAR PORTICO HOTEL TOWARDS MORBI LHS ON NH27	MORBI	REGULAR	255	OPEN	DC	35	45	1575	32	95	DRAW OF LOTS	15	5
408 AMI		GIR SOMNATH	REGULAR	110	OBC	DC	30	30	900	32	75	DRAW OF LOTS	15	4
409 WIT	IAMBHA TO DEDAN ON KHAMBHA NAGESHREE NH-351G	AMRELI	REGULAR	150	ST	CFS	35	45	1575	0	0	DRAW OF LOTS	0	3
	MRAPUR TO KUNKAVAV RAILWAY CROSSING ON AMRELI KUNKAVAV ROAD	AMRELI	REGULAR	100	OPEN	DC	30	30	900	32	75	DRAW OF LOTS	15	5
	ITHIN 4 KMS FROM GALAXY UNDER BRIDGE TOWARDS NOBLENAGAR IN IMEDABAD CITY	AHMEDABAD	REGULAR	290	OPEN	CC	25	25	625	32	12	BIDDING	30	5
	IN TO LIMBDI (LIMABDE) ON DWARKA- GURGADH-LIMABDE STATE HIGHWAY OT ON NH).	DEVBHUMI DWARKA	REGULAR	100	OBC	DC	30	30	900	32	75	DRAW OF LOTS	15	4
		BOTAD	REGULAR	120	OPEN	DC	30	30	900	32	75	DRAW OF LOTS	15	5
412 ON	N SH54,VILLAGE MOTI BHATAMAL	BANAS KANTHA	REGULAR	120	SC	CFS	30	30	900	0	0	DRAW OF LOTS	0	3
413	ITHIN 2.5 KM FROM BHATIYA GRAM PANCHAYAT ON BHATIYA TO BHOGAT ROAD ARSHAD ROAD).	DEVBHUMI DWARKA	REGULAR	100	OBC	DC	30	30	900	32	75	DRAW OF LOTS	15	4
414 WIT	ITHIN 6 KM FROM SIKKA PATIA TOWARDS SIKKA ON SIKKA PATIA TO SIKKA GHWAY	JAMNAGAR	REGULAR	100	OPEN CC 1	DC	30	30	900	32	75	DRAW OF LOTS	15	5
415 I	N LHS WITHIN 2 KM FROM DHARAMPUR DANTA TOLL PLAZA TOWARDS MNAGAR ON NATIONAL HIGHWAY 151A.	DEVBHUMI DWARKA	REGULAR	150	OPEN	CC	35	45	1575	32	12	BIDDING	30	5
416 WIT	ITHIN 2 KM FROM KALAWAD ILINAGADH CROSS ROAD ON KALAWAD TO RAIKOT	JAMNAGAR	REGULAR	100	ST	CFS	30	30	900	0	0	DRAW OF LOTS	0	3
417 WIT	ITHIN MUNICIPAL LIMIT OF TALAJA TOWN NOT ON SH OR NH	BHAVNAGAR	REGULAR	180	OBC	CC	25	25	625	32	12	BIDDING	30	4
4 IX I	N LHS WITHIN 1KM FROM GODREJ GARDEN CITY ON JAGATPUR ROAD TOWARDS HENPUR VILLAGE	AHMEDABAD	REGULAR	260	OPEN	CC	25	25	625	32	12	BIDDING	30	5
	DIYAPADA TOWN WITHIN 2 KM OF DEDIYAPADA BUS STAND NOT ON SH AND	NARMADA	REGULAR	150	OPEN	DC	30	30	900	32	55	DRAW OF LOTS	15	5
4201	LLAGE TOKARVA FANGIYA TO KANJETA BETWEEN STONE NO. 12 AND 13 ON SH L: DHANPUR	DAHOD	REGULAR	155	ST	CFS	30	30	900	0	0	DRAW OF LOTS	0	3
421 FRO	OM ADALAJ CIRCLE TO KARNAVATI UNIVERSITY ON ADALAJ UVARSAD ROAD	GANDHINAGAR	REGULAR	300	OBC	DC	30	30	900	32	75	DRAW OF LOTS	15	4
499	N RAJKOT-PORBANDAR HIGHWAY, WITHIN 2 KM FROM SUPEDI VILLAGE DWARDS DHORAJI ON LHS ON NH27.	RAJKOT	REGULAR	150	OPEN	DC	35	45	1575	32	95	DRAW OF LOTS	15	5
423 WIT	ITHIN KHAMBALIYA MUNICIPAL LIMIT NOT ON SH/NH.	DEVBHUMI DWARKA	REGULAR	100	OPEN CC 2	DC	25	25	625	32	55	DRAW OF LOTS	15	5
	ITHIN 2 KM FROM ZANZARDA CHOWKDI TOWARDS VILLAGE DHANDHUSAR, NOT N JUNAGADH OLD BYPASS ROAD.	JUNAGADH	REGULAR	100	OBC CC 1	DC	30	30	900	32	55	DRAW OF LOTS	15	4
		NAVSARI	REGULAR	295	SC CC 1	CFS	35	45	1575	0	0	DRAW OF LOTS	0	3
426 FRO	OM ALTHAN CIRCLE TO CHIKKUWADI BRTS ON LHS	SURAT	REGULAR	205	OPEN	DC	20	20	525	32	75	DRAW OF LOTS	15	5
427 ON	N NH168A, BETWEEN VILLAGE JHERDA AND RAMPURA	BANAS KANTHA	REGULAR	250	OPEN	CC	35	45	1575	32	12	BIDDING	30	5
428 FRO	OM MOTA CHILODA CIRCLE TO G7 CIRCLE ON RHS	GANDHINAGAR	REGULAR	200	OBC	DC	35	45	1575	32	95	DRAW OF LOTS	15	4
	LLAGE JASPUR IN TALUKA KALOL NOT ON NH/SH	GANDHINAGAR	REGULAR	150	ST	CFS	30	30	900	0	0	DRAW OF LOTS	0	3
430 ON	N NH27, BETWEEN VILLAGE PIPARALA AND SANTALPUR	PATAN	REGULAR	200	OPEN	DC	35	45	1575	32	95	DRAW OF LOTS	15	5
431 FRO	OM JHAGADIA TO RAJPARDI ON LHS OF JHAGADIYA TO RAJPARDI	BHARUCH	REGULAR	180	OPEN	CC	30	30	900	32	12	BIDDING	30	5
	ITHIN 2 KM OF VILLAGE VADSAR IN KALOL TALUKA OM KEVAL CHOWK TO DUMAS VILLAGE ROAD ON SURAT DUMAS ROAD ON RHS	GANDHINAGAR SURAT	REGULAR REGULAR	200 250	OBC OPEN	DC CC	25 25	25 25	625 625	32	55 12	DRAW OF LOTS BIDDING	15 30	4
	LAGE NAHIYAR TO RANIPURA ON NH 64 LHS OF RHARLICH TO IAMBUSAR	BHARUCH		170		CFS					0		0	3
FRO	GHWAY OM KHAIOD CHOWKDI TO MAGDALLA CHOWKDI ON NH53 LHS OF PALSANA TO		REGULAR		SC		35	45	1575	0		DRAW OF LOTS	_	_
435 HAZ	AZIRA ITHIN DHANFRA TOWN MLINICIPAL LIMITS NOT ON NATIONAL HIGHWAY AND	SURAT	REGULAR	250	OPEN	DC	35	45	1575	32	95	DRAW OF LOTS	15	5
436 STA	ATE HIGHWAY	BANAS KANTHA	REGULAR	150	OBC	DC	25	25	625	32	55	DRAW OF LOTS	15	4
	,	RAJKOT	REGULAR	100	OPEN CC 1	DC	25	25	625	32	55	DRAW OF LOTS	15	5
		AHMEDABAD	REGULAR	300	ST	CFS	35	45	1575	0	0	DRAW OF LOTS	0	3
439 I	NA TO YAJPUR ON OLD NH-51 ROAD (NOT ON UNA BYPASS) WITHIN UNA UNICIPAL LIMITS	GIR SOMNATH	REGULAR	160	OBC	DC	30	30	900	32	95	DRAW OF LOTS	15	4
		SURAT	REGULAR	250	OPEN	DC	25	25	625	32	75	DRAW OF LOTS	15	5
441 FRO	OM ASLALI JUCTION TO GAMDI ROAD NOT ON NH	AHMEDABAD	REGULAR	150	OPEN	DC	30	30	900	32	75	DRAW OF LOTS	15	5

442	WITHIN 2KM OF ADESAR POLICE CHECKPOST, LHS TOWARDS SAMAKHYALI ON NH 27, DIST. KUTCH	китсн	REGULAR	240	OBC	DC	35	45	1575	32	95	DRAW OF LOTS	15	4
443 444	FROM BHABHAR BUS STATION TOWARDS SUIGAM ON STATE HIGHWAY ON SH41, BETWEEN AROMA CIRCLE AND VILLAGE KANODAR ON LHS	BANAS KANTHA BANAS KANTHA	REGULAR REGULAR	150 175	ST OPEN	CFS CC	30 30	30 30	900 900	0 32	0 12	DRAW OF LOTS BIDDING	0 30	3 5
445	ON 80 FEET ROAD,BETWEEN SUVARNA BHOOMI CIRCLE AND AYUSHMAN	RAJKOT	REGULAR	150	OPEN	DC	25	25	625	32	75	DRAW OF LOTS	15	5
	HOSPITAL, RAJKOT WITHIN 2 KM FROM BILKHA CROSS JUNCTION TOWARDS KHADIYA ON BILKHA-													_
446	KHADIYA ROAD.	JUNAGADH	REGULAR	100	OBC	DC	30	30	900	32	75	DRAW OF LOTS	15	4
447	IN BETWEEN NANDESARI RAILWAY CROSSING AND NH-48 (NOT ON NH/SH)	VADODARA	REGULAR	110	ST	CFS	30	30	900	0	0	DRAW OF LOTS	0	3
448	ON 2ND RING ROAD, BETWEEN KHOKHADADAD AND KALIPAT, ON LHS TOWARDS MALIYASAN	RAJKOT	REGULAR	150	OPEN	DC	25	25	625	32	75	DRAW OF LOTS	15	5
449	BETWEEN PATI TO AMBHETA, ON NH 360, GANDEVI THALA ROAD	NAVSARI	REGULAR	150	OPEN	DC	35	45	1575	32	95	DRAW OF LOTS	15	5
450	ON LHS WITHIN 2 KM FROM JAMDEVLIYA TOWARDS KALYANPUR ON JAMDEVALIYA KALYANPUR ROAD.	DEVBHUMI DWARKA	REGULAR	100	OBC PH	CC	30	30	900	32	12	BIDDING	30	4
451	BETWEEN VILLAGE NINGALA TO SHIYANAGAR , ON SH-117 DISTRICT BHAVNAGAR	BHAVNAGAR	REGULAR	120	SC PH	CFS	30	30	900	0	0	DRAW OF LOTS	0	3
452	WITHIN 02 KM FROM DINDOLI CHAR RASTA	SURAT	REGULAR	300	OPEN	DC	25	25	625	32	75	DRAW OF LOTS	15	5
453	BETWEEN GOKUL HOTEL TO BHAKTINANDAN CIRCLE IN SURENDRANAGAR CITY	SURENDRANAGAR	REGULAR	135	OPEN	DC	30	30	900	32	55	DRAW OF LOTS	15	5
454	IN RAVAL (JAM RAVAL), TALUKA- KALYANPUR, DEVBHUMI DWARKA.	DEVBHUMI DWARKA	REGULAR	100	OBC	CC	30	30	900	32	12	BIDDING	30	4
455	LHS FROM TAPOVAN CIRCLE TOWARDS NANA CHILODA BRIDGE ON SP RING ROAD AHMEDABAD	AHMEDABAD	REGULAR	240	OPEN	DC	25	25	625	32	75	DRAW OF LOTS	15	5
456	VILLAGE VATARIA TO CHIKHLOTA, ON NETRANG - ANKLESHWAR ROAD	BHARUCH	REGULAR	180	ST	CFS	30	30	900	0	0	DRAW OF LOTS	0	3
457	WITHIN PALANPUR TOWN MUNICIPAL LIMITS, NOT ON NATIONAL HIGHWAY AND STATE HIGHWAY	BANAS KANTHA	REGULAR	200	OPEN	DC	25	25	625	32	55	DRAW OF LOTS	15	5
458	WITHIN 3KM FROM DHUVA CHOWKDI TOWARDS WANKANER LHS ON NH27	MORBI	REGULAR	270	OBC	DC	35	45	1575	32	95	DRAW OF LOTS	15	4
459	ON 2ND RING ROAD,BETWEEN KATARIYA CIRCLE AND MUNJAKA CIRCLE	RAJKOT	REGULAR	150	OPEN	DC	25	25	625	32	75	DRAW OF LOTS	15	5
460	PIJ CHOKADI TO VASO ON SH. DISTRICT KHEDA	KHEDA	REGULAR	110	SC	CFS	30	30	900	0	0	DRAW OF LOTS	0	3
461	ON SH130, VILLAGE UMBRI	BANAS KANTHA	REGULAR	100	OBC	DC	30	30	900	32	75	DRAW OF LOTS	15	4
462	ON LHS FROM SARKHEJ CHOKDI TO KARNAVATI CLUB ON SG HIGHWAY	AHMEDABAD	REGULAR	300	OPEN	DC	25	25	625	32	75	DRAW OF LOTS	15	5
463	BETWEEN VILLAGE AMARSAR AND VILLAGE PIPALIYARAJ, ON MITANA ROAD	MORBI	REGULAR	100	OPEN CC 1	DC	30	30	900	32	75	DRAW OF LOTS	15	5
464	WITHIN 2 KMS FROM NANA CHILODA BRIDGE TOWARDS TAPOVAN ON LHS SIDE	AHMEDABAD	REGULAR	250	OBC	DC	25	25	625	32	75	DRAW OF LOTS	15	4
465	VILLAGE LATI TO NH-51 CROSSING ON SUTRAPADA-SONARIYA ROAD	GIR SOMNATH	REGULAR	170	ST	CFS	30	30	900	0	0	DRAW OF LOTS	0	3
466	GHELVANT TO DHANDHODA ON NH56 ON RHS OF CHHOTA UDEPUR TO VADODARA	CHHOTAUDEPUR	REGULAR	150	OPEN	DC	35	45	1575	32	95	DRAW OF LOTS	15	5
467	ON JAMNAGAR RAJKOT HIGHWAY LHS FROM RIL MAIN GATE TO SAMARPAN BYPASS	JAMNAGAR	REGULAR	100	OPEN	DC	30	30	900	32	75	DRAW OF LOTS	15	5
468	BHALKA CIRCLE TO NH 51 CROSSING ON VERAVAL TALALA ROAD	GIR SOMNATH	REGULAR	140	OBC	DC	30	30	900	32	75	DRAW OF LOTS	15	4
469	OGNAJ CIRCLE TO LAPKAMAN ON KADI ROAD (WITHIN AHMEDABAD CITY LIMITS)	AHMEDABAD	REGULAR	440	ST	CFS	25	25	625	0	0	DRAW OF LOTS	0	3
470	ON PDPU ROAD FROM BHAIJIPURA JUNCTION TO PDPU CAMPUS	GANDHINAGAR	REGULAR	200	OPEN	DC	25	25	625	32	75	DRAW OF LOTS	15	5
471	WITHIN 2 KM FROM SEVEN SKY MALL ON BHUJ AIRPORT RING ROAD, TA. BHUJ, DIST. KUTCH	китсн	REGULAR	200	OPEN	DC	30	30	900	32	55	DRAW OF LOTS	15	5
472	DHOLERA TO DHOLERA SMART CITY ON EITHER SIDE	AHMEDABAD	REGULAR	315	OPEN	DC	30	30	900	32	55	DRAW OF LOTS	15	5
473	ON KUNKAVAV-GONDAL HIGHWAY,BETWEEN GONDAL AND MOVIYA.	RAJKOT	REGULAR	100	OBC CC 1	DC	30	30	900	32	75	DRAW OF LOTS	15	4
474	ON SH120, BETWEEN VILLAGE KHIRASARA AND SARPADAD.	RAJKOT	REGULAR	100	ST CC 1	CFS	30	30	900	0	0	DRAW OF LOTS	0	3
475	IN BETWEEN VILLAGE MANGROL TO MATAR ON SH	VADODARA	REGULAR	100	OPEN PH	DC	30	30	900	32	75	DRAW OF LOTS	15	5
476	WITHIN 4 KM FROM BAVLA TO SANAND ON SH144	AHMEDABAD	REGULAR	130	OBC	DC	30	30	900	32	75	DRAW OF LOTS	15	4
477 478	WITHIN LIMITS OF RAYSAN ON 150 FT RING RD, BETWEEN SOKHADA CHOWKDI AND RAJKOT-AHMEDABAD RD	GANDHINAGAR RAJKOT	REGULAR REGULAR	200 150	OPEN SC	DC CFS	25 25	25 25	625 625	32 0	75 0	DRAW OF LOTS DRAW OF LOTS	15 0	5 3
479	JUNCTION ON LHS TOWARDS MALIYASAN WITHIN 2 KM FROM DHORAJI BUS STAND (NOT ON NH)	RAJKOT	REGULAR	100	OPEN	DC	30	30	900	32	55	DRAW OF LOTS	15	5
4/2	WITHIN 2 KM FROM DHOKAJI BUS STAND (NOT ON NH) WITHIN DEVBHUMI DWARKA MUNICIPAL LIMITS ON DWARKA-KORADA OLD ROAD	DEVBHUMI DWARKA	REGULAR	130	OBC	DC	25	25	625	32	55	DRAW OF LOTS	15	4
480					1									
480	(NOT NH). ON SWATI PARK MAIN RD,BETWEEN PATEL CHOWK AND INTERSECTION OF NH27	RAJKOT	REGULAR	150	OPEN	DC	25	25	625	32	75	DRAW OF LOTS	15	5
	(NOT NH).	RAJKOT SURAT	REGULAR REGULAR	150 450	OPEN OPEN	DC DC	25 35	25 45	625 1575	32 32	75 95	DRAW OF LOTS DRAW OF LOTS	15 15	5 5
481	(NOT NH). ON SWATI PARK MAIN RD,BETWEEN PATEL CHOWK AND INTERSECTION OF NH27 WITH SWATI PARK MAIN RD.													_

						ı				1				
484	WITHIN JUNAGADH MUNICIPAL LIMITS (NOT ON NH/SH AND NOT ON OLD BYPASS ROAD).	JUNAGADH	REGULAR	120	OBC	CC	25	25	625	32	12	BIDDING	30	4
485	RHS FROM ANJALI CHAR RASTA TO KHODIYAR CHAR RASTA VIA AMBEDKAR BRIDGE ,AHMEDABAD CITY	AHMEDABAD	REGULAR	475	OPEN	CC	25	25	625	32	12	BIDDING	30	5
486	WITHIN VILLAGE GOTHDA ON SAMA-SAVLI ROAD (LHS) ROAD ON SH	VADODARA	REGULAR	270	OPEN CC 1	CC	30	30	900	32	12	BIDDING	30	5
487	ON RAJKOT MORBI HIGHWAY, BETWEEN BEDI CHOKDI AND GREELAND CHOKDI	RAJKOT	REGULAR	150	ST	CFS	25	25	625	0	0	DRAW OF LOTS	0	3
488	ON SH864, BETWEEN THARA AND VILLAGE KHARIYA	BANAS KANTHA	REGULAR	120	OBC	CC	30	30	900	32	12	BIDDING	30	4
489	WITHIN 2KM FROM TOKRALA CHOWKDI TOWARDS LIMBDI LHS ON NH47	SURENDRANAGAR	REGULAR	220	OPEN	DC	35	45	1575	32	95	DRAW OF LOTS	15	5
490	WITHIN 2 KM FROM PRAMUKH SWAMI DWAR (BAPS -TIMBAVADI DWAR) JUNAGADH TOWARDS ZANZARDA CHOWKDI.	JUNAGADH	REGULAR	150	OPEN	DC	30	30	900	32	95	DRAW OF LOTS	15	5
491	WITHIN 4.5 KM FROM SIDDHIVINAYAK CIRCLE RAVAPAR TOWARDS GHUNDA ON RAVAPAR GHUNDA ROAD NOT ON SHORNH	MORBI	REGULAR	160	OBC	DC	30	30	900	32	55	DRAW OF LOTS	15	4
492	ON NH27, BETWEEN DEESA AND VILLAGE RASANA MOTA ON RHS	BANAS KANTHA	REGULAR	150	ST	CFS	35	45	1575	0	0	DRAW OF LOTS	0	3
493	ON SH41, VILLAGE SUJANPUR, BETWEEN SIDHPUR AND TENIWADA ON LHS	PATAN	REGULAR	300	OPEN	CC	30	30	900	32	12	BIDDING	30	5
494	JAMNAGAR CITY, WITHIN MUNICIPAL LIMIT, NOT ON SH OR NH.	JAMNAGAR	REGULAR	200	OPEN	CC	25	25	625	32	12	BIDDING	30	5
495	VILLAGE MENDAPARA TO KHARACHIYA ON JUNAGADH - BHESAN HIGHWAY.	JUNAGADH	REGULAR	100	OBC	CC	30	30	900	32	12	BIDDING	30	4
496	WITHIN 2KM FROM KOYBA CHOWKDI TOWARDS DHANGHADRA RHS ON SH07	MORBI	REGULAR	153	SC	CFS	30	30	900	0	0	DRAW OF LOTS	0	3
497	ON LHS OF SP RING ROAD FROM SGVP UNDERPASS TO OGNAJ CIRCLE,AHMEDABAD CITY	AHMEDABAD	REGULAR	380	OPEN	DC	25	25	625	32	75	DRAW OF LOTS	15	5
498	ON AMRELI BYPASS FROM SAVARKUNDLA ROAD CROSSING TO CHITAL ROAD CROSSING	AMRELI	REGULAR	210	OPEN	CC	35	45	1575	32	12	BIDDING	30	5
499	BETWEEN LAKADIYA AND CHITROD, ON LHS TOWARDS SANTALPUR ON NH 27	KUTCH	REGULAR	463	OBC	CC	35	45	1575	32	12	BIDDING	30	4
500	ON NH27, BETWEEN VILLAGE RANAKPUR AND THARA ON RHS	BANAS KANTHA	REGULAR	200	ST	CFS	35	45	1575	0	0	DRAW OF LOTS	0	3
501	BETWEEN KALIYABID WATER TANK AND LEELA CIRCLE VIA VIRANI CIRCLE, BHAVNAGAR	BHAVNAGAR	REGULAR	180	OPEN	DC	25	25	625	32	75	DRAW OF LOTS	15	5
502	WITHIN 3KM FROM SAROVAR PORTICO HOTEL TOWARDS WANKANER LHS ON NH27	MORBI	REGULAR	300	OBC	DC	35	45	1575	32	95	DRAW OF LOTS	15	4
503	DHARI TO MORJAR ON DHARI CHALALA HIGHWAY	AMRELI	REGULAR	120	OPEN	CC	30	30	900	32	12	BIDDING	30	5
504	ON RAJKOT JAMNAGAR HIGHWAY, WITHIN 2 KM FROM GETCO 66KV TARAGHADI SUB STATION TOWARDS RAJKOT ON LHS	RAJKOT	REGULAR	100	OPEN	DC	30	30	900	32	75	DRAW OF LOTS	15	5
505	FROM BARA ROAD JUNCTION (TIRAHA JUNCTION) TOWARDS BUNDER, MANGROL.	JUNAGADH	REGULAR	100	ST	CFS	30	30	900	0	0	DRAW OF LOTS	0	3
506	ON 80 FEET ROAD, WITHIN 1 KM FROM INTERSECTION OF DEBAR ROAD & 80 FEET ROAD TOWARDS AHIR CHOWK.	RAJKOT	REGULAR	150	OBC	DC	25	25	625	32	75	DRAW OF LOTS	15	4
507	AT BALCHONDI VILLAGE, ON NH 56, VAPI-NANPONDHA SIDE	VALSAD	REGULAR	225	OPEN	DC	35	45	1575	32	95	DRAW OF LOTS	15	5
508	WITHIN PATAN CITY MUNICIPAL LIMITS	PATAN	REGULAR	200	OPEN	DC	30	30	900	32	55	DRAW OF LOTS	15 0	5 3
510	WITHIN 2 KM OF BVP CIRCLE ANJAR ON ANJAR-ADIPUR ROAD WITHIN LIMITS OF SINGARVA ; TALUKA - DASHKROI	KUTCH AHMEDABAD	REGULAR REGULAR	155 150	ST OBC	CFS DC	30 25	30 25	900 625	0 32	75	DRAW OF LOTS DRAW OF LOTS	15	4
511	ON RAJKOT PORBANDAR HIGHWAY (NH27), WITHIN 2KM FROM GONDAL CHOWKDI TOWARDS GONDAL ON LHS	RAJKOT	REGULAR	150	OPEN	DC	25	25	625	32	75	DRAW OF LOTS	15	5
512	WITHIN KAPADWANJ TOWN LIMITS ON SH	KHEDA	REGULAR	160	OPEN CC 1	DC	30	30	900	32	75	DRAW OF LOTS	15	5
513	WITHIN 3 KMS FROM PALLADIUM MALL TO TIMES CORPORATE SQUARE VIA SHELL PUMP THALTEJ	AHMEDABAD	REGULAR	410	OBC	CC	25	25	625	32	12	BIDDING	30	4
514	WITHIN 2 KMS IN AND AROUND SINDHUBHAWAN AHMEDABAD	AHMEDABAD	REGULAR	415	SC	CFS	25	25	625	0	0	DRAW OF LOTS	0	3
515	ON KUVADVA WANKANER HIGHWAY, WITHIN 3 KM OF INTERSECTION OF NH27 AND GJ113.	RAJKOT	REGULAR	100	OPEN	DC	30	30	900	32	75	DRAW OF LOTS	15	5
516	WITHIN 2KM FROM VARSANA CHOWKDI TOWARDS ANJAR ON NH341	KUTCH	REGULAR	208	OPEN	DC	35	45	1575	32	95	DRAW OF LOTS	15	5
517	WITHIN 2KM FROM VARSANA CHOWKDI AND ON RHS TOWARDS GANDHIDHAM, ON NH41	KUTCH	REGULAR	1135	OBC	DC	35	45	1575	32	95	DRAW OF LOTS	15	4
518	WITHIN PORBANDAR MUNICIPAL LIMIT, NOT ON SH/NH.	PORBANDAR	REGULAR	110	ST	CFS	25	25	625	0	0	DRAW OF LOTS	0	3
519	WITHIN 3 KM FROM KHAVDA MAMLATDAR OFFICE, TA. BHUJ, ON NH341	китсн	REGULAR	265	OPEN	DC	35	45	1575	32	95	DRAW OF LOTS	15	5
520	WITHIN 2 KMS ON LHS SIDE FROM JASODANAGAR CHOWKDI TO NARODA PATIYA ON NAROL- NARODA ROAD	AHMEDABAD	REGULAR	270	OPEN	CC	25	25	625	32	12	BIDDING	30	5
521	WITHIN 1.5 KM FROM GALLA VILLAGE ON JAMNAGAR DADIYA HIGHWAY	JAMNAGAR	REGULAR	100	OBC	DC	30	30	900	32	75	DRAW OF LOTS	15	4
522	FROM TRIPURA CIRCLE TO AIRPORT RING ROAD JUNCTION, ON TRIMANDIR ROAD BHUJ CITY, DIST. KUTCH	KUTCH	REGULAR	170	OPEN	CC	30	30	900	32	12	BIDDING	30	5

523	BHARADADA TO TOKARVA ON NH 953, DIST: TAPI	TAPI	REGULAR	150	ST CC 1	CFS	35	45	1575	0	0	DRAW OF LOTS	0	
524	BARULA GIR ON GADU-TALALA HIGHWAY.	JUNAGADH	REGULAR	100	OPEN CC 2	DC	30	30	900	32	75	DRAW OF LOTS	15	5
525	ON GODI ROAD WITHIN DAHOD CITY LIMITS NOT ON NH AND SH	DAHOD	REGULAR	100	OBC CC 1	DC	30	30	900	32	55	DRAW OF LOTS	15	4
526	AT BODELI WITHIN BODELI MUNICIPAL LIMITS, CHHOTA UDEPUR	CHHOTAUDEPUR	REGULAR	200	OPEN	CC	30	30	900	32	12	BIDDING	30	5
527	WITHIN 5 KM FROM PALANPUR JAKATNAKA	SURAT	REGULAR	275	ST	CFS	20	20	525	0	0	DRAW OF LOTS	0	3
	WITHIN 3 KM FROM VITS HOTEL DWARKA TOWARDS NAGESHWAR TEMPLE ON													
528	DWARKA-NAGESHWAR ROAD.	DEVBHUMI DWARKA	REGULAR	100	OBC	DC	30	30	900	32	75	DRAW OF LOTS	15	4
529	BHALKA TIRTH TEMPLE TO SWAMINARAYAN TEMPLE ON JUNAGADH ROAD IN VERAVAL, NOT ON NH	GIR SOMNATH	REGULAR	150	OPEN	DC	30	30	900	32	55	DRAW OF LOTS	15	5
530	WITHIN 2 KM FROM VARSANA CHOWKDI ON LHS TOWARDS NANI CHIRAI, ON NH 41	китсн	REGULAR	1117	OPEN	DC	35	45	1575	32	95	DRAW OF LOTS	15	5
531	WITHIN 3 KM FROM MEHSANA BYPASS CIRCLE TOWARDS PALANPUR ON MEHSANA BYPASS ROAD ON NH	MEHSANA	REGULAR	230	OBC	DC	35	45	1575	32	95	DRAW OF LOTS	15	4
532	VILLAGE KALAMSAR TALUKA KHAMBHAT NOT ON SH/NH	ANAND	RURAL	80	OPEN	DC	30	30	900	16	35	DRAW OF LOTS	5	4
533	FROM MACHH CHOKDI TO SATVAN VILLAGE, NARMADA	NARMADA	RURAL	50	OBC	DC	30	30	900	16	35	DRAW OF LOTS	5	3
534	IN VILLAGE MORAJ TALUKA TARAPUR NOT ON SH/NH	ANAND	RURAL	70	SC	CFS	30	30	900	0	0	DRAW OF LOTS	0	2
535	AT VILLAGE: GALKUVA, TAL: SONGADH, TAPI	TAPI	RURAL	75	OPEN	DC	30	30	900	16	35	DRAW OF LOTS	5	4
536	VILLAGE VANIYAD IN MODASA TALUKA NOT ON NH/SH	ARVALLI	RURAL	75	OPEN	DC	30	30	900	16	35	DRAW OF LOTS	5	4
537	FROM ZARIYA TO WADI VILLAGE NOT ON SH/NH	NARMADA	RURAL	50	OBC	DC	30	30	900	16	35	DRAW OF LOTS	5	3
538	VILLAGE MODHVADA, TALUKA PORBANDAR, DISTRICT- PORBANDAR.	PORBANDAR	RURAL	100	ST	CFS	30	30	900	0	0	DRAW OF LOTS	0	2
539	VILLAGE AMODARA IN BAYAD TALUKA NOT ON NH/SH	ARVALLI	RURAL	75	OPEN	DC	30	30	900	16	35	DRAW OF LOTS	5	4
540	BETWEEN VILLAGE BELA RANGPAR AND VILLAGE NAVA SADULKA, ON KHOKHRA HANUMAN ROAD	MORBI	RURAL	100	OPEN	DC	30	30	900	16	35	DRAW OF LOTS	5	4
541	VILLAGE PADRADI TAL SHEHERA NOT ON NH AND SH	PANCH MAHALS	RURAL	60	OBC	CC	30	30	900	16	6	BIDDING	10	3
542	AT VILLAGE TALAVCHORA, TALUKA CHIKHLI	NAVSARI	RURAL	75	OPEN	DC	30	30	900	16	35	DRAW OF LOTS	5	4
543	VILLAGE KOLIKHADA NOT ON NH, TALUKA -RANAVAV.	PORBANDAR	RURAL	100	SC	CFS	30	30	900	0	0	DRAW OF LOTS	0	2
544	VILLAGE NALIYA, TA. ABDASA, NOT ON HIGHWAY	KUTCH	RURAL	115	OBC	DC	30	30	900	16	35	DRAW OF LOTS	5	3
	VILLAGE RANGPAR TO VILLAGE MESARIYA , ON RANGPAR MESARIYA VILLAGE ROAD													
545	TALUKA WAKANER	MORBI	RURAL	25	OPEN CC 1	CC	30	30	900	16	6	BIDDING	10	4
546	VILLAGE MALOD TALUKA WADHWAN DISTRICT SURENDRANAGAR	SURENDRANAGAR	RURAL	81	OPEN	DC	30	30	900	16	35	DRAW OF LOTS	5	4
547	FROM SANKHEDA RAILWAY STATION TO GOJPUR VILLAGE WITH 1.5 KM OF RAILWAY STATION	CHHOTAUDEPUR	RURAL	75	ST	CFS	30	30	900	0	0	DRAW OF LOTS	0	2
548	WITHIN VILLAGE DHUNSOL, TALUKA LAKHANI	BANAS KANTHA	RURAL	75	OBC	DC	30	30	900	16	35	DRAW OF LOTS	5	3
549	FROM VILLAGE LADOL TO VILLAGE RANSIPUR ON VIJAPUR-VALASNA ROAD NOT ON NH/SH	MEHSANA	RURAL	75	OPEN	DC	30	30	900	16	35	DRAW OF LOTS	5	4
550	GHUNADA SAJANPAR VILLAGE TALUKA MORBI	MORBI	RURAL	60	OPEN	DC	30	30	900	16	35	DRAW OF LOTS	5	4
551	VILLAGE AMBLASH, TALUKA TALALA (NOT ON SH/NH)	GIR SOMNATH	RURAL	50	ST	CFS	30	30	900	0	0	DRAW OF LOTS	0	2
552	Village Kantu Tal Ghoghamba not on NH/SH	PANCH MAHALS	RURAL	60	OBC	DC	30	30	900	16	35	DRAW OF LOTS	5	3
553	AT VILLAGE BAGDANA TALUKA MAHUVA ON THALIYA BAGDANA ROAD	BHAVNAGAR	RURAL	90	OPEN	DC	30	30	900	16	35	DRAW OF LOTS	5	4
554	VILLAGE KOTHARA, TA. ABDASA, NOT ON HIGHWAY	KUTCH	RURAL	147	OPEN CC 2	DC	30	30	900	16	35	DRAW OF LOTS	5	4
555	VILLAGE VIRVA, TEHSIL LODHIKA	RAJKOT	RURAL	30	OBC CC 1	DC	30	30	900	16	35	DRAW OF LOTS	5	3
556	VILLAGE VALADHARI, TALUKA GONDAL, (NOT ON SH/NH)	RAJKOT	RURAL	25	SC CC 1	CFS	30	30	900	0	0	DRAW OF LOTS	0	2
557	VILLAGE NANA CHEKHLA, TEHSIL TALOD, NOT ON NH/SH	SABARKANTHA	RURAL	75	OPEN	DC	30	30	900	16	35	DRAW OF LOTS	5	4
558	VILLAGE JITHLA TALUKA KODINAR (NOT ON SH/NH)	GIR SOMNATH	RURAL	50	OPEN	DC	30	30	900	16	35	DRAW OF LOTS	5	4
559	FROM FATEHPURA BUS STATION TILL RAJASTHAN BORDER NOT ON SH AND NH	DAHOD	RURAL	50	OBC	DC	30	30	900	16	35	DRAW OF LOTS	5	3
560	AT VILLAGE MANDA, ON BHILAD-NARGOL ROAD ON EITHER SIDE	VALSAD	RURAL	75	ST	CFS	30	30	900	0	0	DRAW OF LOTS	0	2
561	WITHIN 1KM FROM NAGRA BUS STAND TOWARDS DUDHREJ ON DUDHREJ NAGRA ROAD TALUKA WADHWAN	SURENDRANAGAR	RURAL	66	OPEN	CC	30	30	900	16	6	BIDDING	10	4
562	ROAD TALUKA WADHWAN AT VILLAGE: DOLARA, ON DOLARA TO MEGHPUR ROAD WITHIN 300 MTR FROM DOLARA POST OFFICE	TAPI	RURAL	75	OPEN	DC	30	30	900	16	35	DRAW OF LOTS	5	4
563	WITHIN VILLAGE KAKOSHI, TALUKA SIDHPUR	PATAN	RURAL	75	OBC	DC	30	30	900	16	35	DRAW OF LOTS	5	3
564	AT VASEDI VILLAGE WITHIN 2 KM OF CHHOTA UDEPUR TO VASEDI	CHHOTAUDEPUR	RURAL	75	OPEN	DC	30	30	900	16	35	DRAW OF LOTS	5	4
565	Village Kalsari not on SH/NH, Taluka- Visavdar, Junagadh	JUNAGADH	RURAL	80	SC	CFS	30	30	900	0	0	DRAW OF LOTS	0	2
566	VILLAGE LILOD ON SIMRI NARESHWAR ROAD (NOT ON NH/SH)	VADODARA	RURAL	70	OPEN	DC	30	30	900	16	35	DRAW OF LOTS	5	4
567	BETWEEN VILLAGE VASAN AND JADIYA, TALUKA DHANERA	BANAS KANTHA	RURAL	75	OBC	DC	30	30	900	16	35	DRAW OF LOTS	5	3
568	AT VILLAGE BILWANI TAL JHALOD not on NH AND SH	DAHOD	RURAL	50	OPEN CC 1	CC	30	30	900	16	6	BIDDING	10	4
569	AT VILLAGE NAVALJA ON KANWAT TO ALIRAJPUR ROAD	CHHOTAUDEPUR	RURAL	75	ST	CFS	30	30	900	0	0	DRAW OF LOTS	0	2
570	VILLAGE VADGAM ,TALUKA KHAMBHAT NOT ON SH/NH	ANAND	RURAL	50	OBC	DC	30	30	900	16	35	DRAW OF LOTS	5	3
571	VILLAGE - BAHIYAL IN DEHGAM TALUKA	GANDHINAGAR	Rural	75	OPEN	DC	30	30	900	16	35	DRAW OF LOTS	5	4
572	FROM NEXA SHOWROOM TO RIVIERA ARCADE ON GANDHIDHAM-VERSAMEDHI ROAD	KUTCH	RURAL	200	OPEN	DC	30	30	900	16	35	DRAW OF LOTS	5	4
573	VILLAGE HIMALA not on SH/NH, DAHOD	DAHOD	RURAL	50	OBC	DC	30	30	900	16	35	DRAW OF LOTS	5	3
5/3	The toe thinker not on only hin, brition	5,100	NONAL	50	OBC	50	50			10	رر	DIMIT OF LOTS		

								1			1			
574	from khartej chokdi to kathlal on LHS not on SH/NH Village Makwa, Talula: Mehmdavad	KHEDA	RURAL	80	ST	CFS	30	30	900	0	0	DRAW OF LOTS	0	2
575	WITHIN VILLAGE PANCHADA, TALUKA VADGAM	BANAS KANTHA	RURAL	75	OPEN	CC	30	30	900	16	6	BIDDING	10	4
576	VILLAGE VASHIYAR, FROM VASHIYAR TO PARNERA LHS	VALSAD	RURAL	75	OPEN	DC	30	30	900	16	35	DRAW OF LOTS	5	4
577	BETWEEN VILLAGE MAKANSAR AND VILLAGE SARTANPAR, ON SARTANPAR ROAD (NOT ON NH/SH)	MORBI	RURAL	100	OBC	DC	30	30	900	16	35	DRAW OF LOTS	5	3
578	Village Chhipadi Taluka kathlal not on SH/NH	KHEDA	RURAL	80	ST	CFS	30	30	900	0	0	DRAW OF LOTS	0	2
579	Between Shree Navchetan Science School and Ramnath Mahadev Temple, Village Ramnagar, TalKhambaliya	DEVBHUMI DWARKA	RURAL	100	OPEN	DC	30	30	900	16	35	DRAW OF LOTS	5	4
580	VILLAGE GARBADA, TALUKA GARBADA NOT ON NH AND SH	DAHOD	RURAL	50	OPEN	CC	30	30	900	16	6	BIDDING	10	4
581	VILLAGE HAMAPAR , TALUKA DHROL	JAMNAGAR	RURAL	40	OBC PH	DC	30	30	900	16	35	DRAW OF LOTS	5	3
582	VILLAGE VARACHA, TAL: NANDOD, DIST: NARMADA	NARMADA	RURAL	50	SC PH	CFS	30	30	900	0	0	DRAW OF LOTS	0	2
583	BETWEEN BANAS DAIRY,PALANPUR AND VILLAGE JAGANA ON BANAS DAIRY ROAD	BANAS KANTHA	RURAL	75	OPEN	DC	30	30	900	16	35	DRAW OF LOTS	5	4
584	FROM T-JUNCTION TO MICT TOWNSHIP, LHS TOWARDS MICT TOWNSHIP ON PARAGPAR-MUNDRA PORT ROAD	KUTCH	RURAL	270	OPEN	DC	30	30	900	16	35	DRAW OF LOTS	5	4
585	VILLAGE DHARAMPUR, TALUKA- KHAMBALIYA	DEVBHUMI DWARKA	RURAL	90	OBC	CC	30	30	900	16	6	BIDDING	10	3
586	AT VILLAGE DHARPIPLA TALUKA RANPUR	BOTAD	RURAL	90	OPEN	DC	30	30	900	16	35	DRAW OF LOTS	5	4
587	AT VILLAGE DHANPUR NOT ON SH/NH	DAHOD	RURAL	50	ST	CFS	30	30	900	0	0	DRAW OF LOTS	0	2
588	WITHIN 3 KM FROM RAVAPAR SUBSTATION TOWARDS RAJKOT MORBI HIGHWAY ON MAIN ROAD NOT ON SH	MORBI	RURAL	30	OPEN	CC	30	30	900	16	6	BIDDING	10	4
589	FROM MENAMBA TO DEV MOGRA, NARMADA	NARMADA	RURAL	50	OBC	DC	30	30	900	16	35	DRAW OF LOTS	5	3
590	VILLAGE SHAPUR NOT ON NH/SH, TALUKA VANTHALI, JUNAGADH.	JUNAGADH	RURAL	80	OPEN	DC	30	30	900	16	35	DRAW OF LOTS	5	4
591	JETALPUR TO PIRANA SATPANTH MANDIR CIRCLE VIA IMAMSHAH BAWA DARGAH	AHMEDABAD	Rural	75	SC	CFS	30	30	900	0	0	DRAW OF LOTS	0	2
592	VILLAGE NAVAGAM TALUKA THANGADH DIST SURENDRANAGAR	SURENDRANAGAR	RURAL	75	OBC	DC	30	30	900	16	35	DRAW OF LOTS	5	3
593	VILLAGE SHIVRAJGADH, TALUKA GONDAL (NOT ON SH/NH)	RAJKOT	RURAL	25	OPEN	DC	30	30	900	16	35	DRAW OF LOTS	5	4
594	VILLAGE TOYANI ON PILOD RANDHIKPUR ROAD ON LHS BETWEEN STONE NO. 3 AND 4 NOT ON NH/SH	DAHOD	RURAL	50	OPEN CC 1	CC	30	30	900	16	6	BIDDING	10	4
595	VILLAGE BHUNDANI, TALUKA KHAMBHA, NOT ON SH/NH	AMRELI	RURAL	60	OBC	DC	30	30	900	16	35	DRAW OF LOTS	5	3
596	VILLAGE BORGOTA, TALUKA SINGVAD	DAHOD	RURAL	50	ST	CFS	30	30	900	0	0	DRAW OF LOTS	0	2

Full forms of abbreviations mentioned in the name of locations are as follows:- LHS = left hand side, RHS = right hand side, WML = within municipal limit, OML = outside municipal limit, Km/kms = kilometre/kilometres, SH = state highway, NH = national highway, MDR = major district road, KM stone = Kilometre stone / Milestone.

Volumes indicated are based on market conditions and may undergo change. Applicants are advised to make their own assessment of potential.

* The site should either be Owned or on lease with applicant for minimum period of 19 years and 11 months or Applicant should have firm offer for the same.

The explanation of the columns in the table is given in the Brochure which also contains detailed guidelines of selection procedure for dealership along with Application form and other relevant details. The Brochure is available in the Corporation Website (www.bharatpetroleum.in) and can be downloaded free of cost.

APPLICANTS, IN THEIR OWN INTEREST, SHOULD CAREFULLY GO THROUGH THE "BROCHURE" AND UNDERSTAND CONDITIONS OF SELECTION BEFORE SUBMITTING THEIR APPLICATION

Application for RO dealership along with online payment of Non-refundable application fee, as applicable (detailed below), should be submitted on-line by 27/09/2023

Туре	Туре	Category	Application	Туре	Туре	Category	Applicati
of RO	of		fee in	of RO	of		on
	Site		Rs.		Site		fee in
							Rs.
REGULAR ROs	CFS	SC/ST	3000	RURAL	CFS	SC/ST	2500
	CC	OBC	5000	ROs	CC	OBC	4000
	cc	OPEN	10000		CC	OPEN	8000
	DC	OBC	5000		DC	OBC	4000
	DC	OPEN	10000		DC	OPEN	8000

The facility for submission of on-line application will be withdrawn immediately after the cut-off date as mentioned above.

The tenure of the dealership shall be for an initial period of 15 years and renewable every 5 years thereafter.

This is only a notice inviting application for allotment of RO dealership and not an offer of RO dealership.

The Corporation reserves the right to cancel/withdraw/ amend this advertisement or extend the due date at its sole discretion without assigning any reason.

In case of any discrepancy in advertisement published in English News papers vis a vis vernacular dailies, the direction/information indicated in English paper would prevail. Similarly, contents of Brochure in English will be final and will prevail upon in case of any dispute.

For purchase of Brochure and any information with regard to the advertisement, candidates may contact the following address:-

S.No	Terrtiroy	Districts Covered	Address	Contact No
		AHMEDABAD, BOTAD	Territory Coordinator (Retail), Ahmedabad	
		BANAS KANTHA	Bharat Petroleum Corp. Ltd.,	9860961010
1	AHMEDABAD	BHAVNAGAR, PATAN	lst Floor, Golden Triangle, BPC Corner,	9714048697
		GANDHINAGAR	Nr. Sardar Patel Stadium,	3714048037
		SURENDRANAGAR	Post Navjivan, Ahmedabad -380014.	
		AMRELI, RAJKOT		
	RAJKOT	DEVBHUMI DWARKA	Territory Coordinator (Retail), Rajkot	
2		GIR SOMNATH, DIU	Bharat Petroleum Corp. Ltd.,	9025501988
-		JAMNAGAR, MORBI	BHARAT BHAVAN, Opp. Shastri Maidan, Limbda Chowk, Rajkot- 360001	0281-2239818
		JUNAGADH, KUTCH	BHAKAT BHAVAN, Opp. Stiasti Tivialdati, Littibua Cilowk, Rajkot- 300001	
		PORBANDAR		
	SURAT	BHARUCH, SURAT		
		CHHOTAUDEPUR	Territory Coordinator (Retail), Surat	9493804888
3		DADRA AND NAGAR HAVELI AND DAMAN	Bharat Petroleum Corp. Ltd.,	9428049925
		NARMADA, NAVSARI	Surat Hazira Road, PO. Ichhpore, Dist. Surat -394510.	3428043323
		TAPI, THE DANG, VALSAD		
		ANAND, ARVALLI	Territory Coordinator (Retail), Vadodara	
		DAHOD, KHEDA	Bharat Petroleum Corp Ltd	9825719775
4	VADODARA	MAHISAGAR, MEHSANA	Bharat Niwas, Rajesh Tower Road,	8758326442
		PANCH MAHALS	Gotri, Vadodara -390021	0/30320442
		SABARKANTHA, VADODARA	Gotti, Vadodata -550021	